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Friday, June 13, 2008

--- Upon commencing at 9:37 a.m.


MR. KAISER:  Please be seated.


Mr. Penny.


MR. PENNY:  Yes, thank you, Mr. Chairman.  The estimates for the balance of Ms. McShane are still quite substantial, at around five plus hours, so we will get right to it.  I just wanted to say that the -- that, for the record, we filed today answers to undertakings J5.6 and 8.10.


MR. KAISER:  Thank you.  Mr. Warren.

ONTARIO POWER GENERATION - PANEL 10, RESUMED - COST OF CAPITAL


Kathleen McShane, Previously Sworn
Cross-examination by Mr. Warren:


MR. WARREN:  Thank you, Mr. Chairman.  Mr. Chairman, I am going to be referring Ms. McShane to her prefiled evidence, but in addition to that, there are five documents which I asked Mr. Battista to put before you both for convenience and because I am now in peril of my costs if I don't do so.  


Two of them I think require exhibit markings, Mr. Chairman. The first is the decision and order of the Board dated January 14th, 2006 -- sorry January 16th, 2004, I apologize, in RP-2002-0158.


MR. BATTISTA:  That will be given Exhibit No. K11.1.

EXHIBIT NO. K11.1:  DECISION AND ORDER OF THE BOARD IN RP-2002-0158 DATED JANUARY 16, 2004.


MR. WARREN:  The second document requiring, I believe, an exhibit is the report of the Board on cost of capital and 2nd generation incentive regulation for Ontario's electricity distributors, dated December 20th, 2006.


MR. BATTISTA:  That will be Exhibit K11.2.

EXHIBIT NO. K11.2:  REPORT OF THE BOARD ON COST OF CAPITAL AND 2ND GENERATION INCENTIVE REGULATION FOR ONTARIO'S ELECTRICITY DISTRIBUTORS, DATED DECEMBER 20, 2006.


MR. WARREN:  The other three, Mr. Chairman and Members of the Panel, are already exhibits in the proceeding, but for convenience I thought I would put additional copies up.  They are the memorandum of agreement between OPG and the Crown dated the 17th day of August 2005.


The second, which is already marked as Exhibit L3.47, attachment 2, is a copy of a letter dated June 16th, 2006 to James Hankinson of OPG from the then Minister of Energy, Mr. Duncan.


The third document, which I know you all have, is a copy of Ontario Regulation 53/05.  I have given copies of that to Ms. McShane -- copies of all of that material to Ms. McShane.


Ms. McShane, can we begin just with some -- make sure that you and I are on the same page and understanding, our general operating framework.


My understanding - and correct me if you have a different understanding - is that OPG generates about 70 percent of the electricity supply in the province?


MS. McSHANE:  That's my understanding, yes.


MR. WARREN:  And it's -- a very substantial portion of the province's electricity generated by OPG is base load generation?


MS. McSHANE:  Yes.  You and I agree with that percentage of electricity generation, that OPG's operations are critical to the economic health of the province?


MS. McSHANE:  Yes.


MR. WARREN:  And can you and I agree that we have -- you discussed at some length yesterday the identity of the shareholder as the province.  Can we agree given the importance of OPG to the province, that the shareholder is unlikely to let OPG founder; is that fair?  It's unlikely to let it fail?


MS. McSHANE:  Well, I would say that that's correct.  It is unlikely to allow it to fail, just as in other provinces where there's an important company to the -- like in Alberta, I mean, I doubt very much that the province would allow the regulated utilities in that province to fail, either.


MR. WARREN:  I don't think there is any magic in this, Ms. McShane.  The point I wanted to get to is whether you and I could agree that, leaving aside the issue of the ordinary relationship of a shareholder and a company in the private sector, that because of the importance of OPG to the province's economy, that the province has a vested interest in its surviving and operating effectively; is that not fair?


MS. McSHANE:  Sure, that's fair.


MR. WARREN:  You and I can agree that the province is engaged in the process of long-term planning for its electricity supply over now about a 22-year time horizon to 2025?


MS. McSHANE:  Yes, it is.


MR. WARREN:  Part of that is a direction that the government has given to the Ontario Power Authority that, for example, up to a certain percentage of the forecast requirement by 2025 will be hydroelectric generation and nuclear generation?


MS. McSHANE:  That's my understanding.


MR. WARREN:  And one of the first documents I've placed before you is a copy of a letter from the then Minister of Energy to Mr. Hankinson, president and CEO of OPG, and in this letter is the -- a direction from the Ontario government to OPG telling it, first of all, in the second paragraph:

"The Ontario government announced and directed the OPA to ensure adequate base load electricity supply while maintaining the nuclear generation component of that base load at today's level of 14,000 megawatts of installed capacity."  


And then in the following paragraph, it says:

"Recognizing that maintaining the current level of nuclear base load through 2025 require a combination of refurbishment of the existing units and construction of replacement units and given the long lead times required for licensed approvals of these activities, I am directing OPG to (a) begin feasibility studies on refurbishing its existing nuclear units.  As part of this initiative, OPG is directed to also begin an environmental assessment on the refurbishment of the four existing units at Pickering A and B, begin a federal approvals process, including environmental assessment for new nuclear units at an existing site."


Can we agree, Ms. McShane, what this letter is saying to the -- is the province saying to its company that it has to begin the planning for base load -- for ensuring the supply of base load generation and to begin the planning?  Fair enough?


MS. McSHANE:  Yes.


MR. WARREN:  That would be fair?  Okay.


Now, you indicated in the -- you indicated in the course of your testimony here and in your evidence that you are familiar with the ownership structure for OPG, and, in that context, I would ask if you would turn up the second document I placed before you, which is the memorandum of agreement between the Crown and OPG.


Do you have that document?


MS. McSHANE:  Yes.


MS. CAMPBELL:  Mr. Warren, could you tell me where I would find that document, for those of us who weren't given -- is that J1.1?


MR. WARREN:  I'm not absolutely certain, Ms. Campbell.  I apologize for that.  I actually --


MR. PENNY:  It's A-1, tab 4, schedule 1, appendix B.


MS. CAMPBELL:  Thank you.


MR. WARREN:  Thanks, Mr. Penny.


I would like you to look on this document, first, Ms. McShane, at the heading "Mandate".


First of all, would you agree that this is -- among other things, it contains directions from the shareholder, the province, to OPG about various aspects of its operations; fair?


MS. McSHANE:  Fair enough.


MR. WARREN:  A2:

"OPG's key nuclear objective will be the reduction of risk exposure in the province arising from its investment in nuclear generating stations in general, and, in particular, the refurbishment of older units.  OPG will continue to operate with a high degree of vigilance with respect to nuclear safety."


Have I read that correctly?


MS. McSHANE:  Yes.


MR. WARREN:  The second thing I would like you to look at under "Mandate" is A4:

"With respect to investment in new generation capacity, OPG's priority will be hydroelectric generation capacity."


Have I read that correctly?


MS. McSHANE:  Yes.


MR. WARREN:  Okay.  Thirdly, if you can take a look at -- sorry, just on that last point, I think you have agreed in your evidence, and if not in your testimony yesterday, that hydroelectric generation is generally less risky than nuclear?


MS. McSHANE:  Yes.


MR. WARREN:  Okay.  Finally, if we look on the third page under "Communication and Reporting", I see that under number 4, that:

"OPG's chair, president and chief executive officer and the Minister of Energy will meet on a regular basis, approximately nine times a year."

Do you see that?

MS. McSHANE:  Yes.

MR. WARREN:  Would you agree with me that what that suggests is a high degree of supervision, indeed control, by the shareholder over the operations of OPG?  Fair?

MS. McSHANE:  I would read that, that there is consultation.  I don't know that I would read it that there's control, but --

MR. WARREN:  Now, against that background, Ms. McShane, I would like to turn to the third of the documents I have placed before you, and this is Ontario Regulation 53/05.

You have described 53/05 in your prefiled evidence.  I don't know that you need to turn it up, but the point of reference I am referring to is page 60 and 61 of that.

On page 60, you have described Ontario Regulation 53/50 in the following terms:

"In that context, certain requirements set out in Regulation 53/05 could be viewed as an implementation of the traditional regulatory prohibition against retroactive ratemaking."
Then you list on the following page some six items in that category; correct?

MS. McSHANE:  Yes.

MR. WARREN:  Now, I'm going to suggest to you, Ms. McShane, for your response, that Regulation 53/05 is, in fact, something significantly more than that.

I would ask you to turn to section 6, subsection 2, item 3, as an example.

That particular section says, and I quote:

"The Board shall ensure that OPG recovers the balance recorded in the deferral account established under subsection 5.4.  The Board shall authorize recovery of the balance on a straight-line basis over a period not to exceed 15 years."

If you turn up the page to 5.4, you will see that what 5.4 is, is:

"Ontario Power Generation shall establish a deferral account in connection with section 78.1 of the Act that records non-capital costs incurred on or after January 1, 2005, that are associated with the planned return to service of all units at Pickering A nuclear station, including those units which the board of directors of OPG has determined should be placed in safe storage."

If we look at, in addition, to subsection 6, 2, 4, it says:

"The Board shall ensure that OPG recovers capital and non-capital costs and firm financial commitments incurred to increase the output of refurbished or add operating capacity to a generation facility referred to in section 2, including but not limited to assessment costs and pre-engineering costs and commitments."

Now, I am going to suggest to you, if we look at the cluster of documents we have looked at, beginning with the Memorandum of Agreement which says that you are to protect, in effect, the province from the risks inherent in nuclear generation, and then go to the Hankinson letter which says you have to maintain base load and, to that extent, develop and refurbish, and then you have this document which, in effect, protects, I suggest to you, OPG from the risk that this Board would disallow the costs of doing that, would you agree with that?

MS. McSHANE:  Well, I guess I read the memorandum of agreement with respect to reducing the risk to the province somewhat differently.

I read it as suggesting to OPG that they operate the nuclear facilities on a basis that minimized the risk arising from them, rather than taking specific or developing specific plans to shift risks.

But with respect to the regulation, if you look at my testimony, what I said was that there were certain requirements in the document that were, from my perspective, intended to prohibit retroactive rate making.

They reflected events that occurred prior to full regulation by the Board.  With respect to the nuclear accounts in particular, it seemed to me that those, as established in the regulation, were consistent with what we're seeing other companies in North America who are thinking of new nuclear facilities requiring in order for them to proceed.

So, in that context, I sort of -- I viewed them as being comparable.

MR. WARREN:  Ms. McShane, I want you and I just to examine this governance structure.  Have I got it right that the shareholder says to OPG:  Develop and refurbish nuclear to ensure we've got this base load capacity.  That's the Hankinson letter.

And then in this regulation, it says to this Board, that the costs of doing that, at least the planning stages, the early investment, will be protected.  This Board is directed to allow OPG to recover those costs.

MS. McSHANE:  Right.

MR. WARREN:  Okay.  And what I am saying to you, asking for your observation on, is that the shareholder, with a vested interest in the success of OPG, has used its power to direct this Board to protect it from a measure of risk.  Is that not a fair conclusion on my part?

MS. McSHANE:  That's a fair conclusion, that that's what the document does, is set up the risk framework.  And when one does, then the cost of capital, one estimates it within the framework that has been established.

MR. WARREN:  Now, would you agree with me, that this -- perhaps you can help me -- this strikes me, Ms. McShane, and you are far more familiar than I am with the entire range of regulatory structures in this comment -- this strikes me as an unusual circumstance in which the shareholder has the ability to tell the regulator how it should go about protecting the interests of a corporation.

Is that not an unusual circumstance, Ms. McShane?

MS. McSHANE:  It's relatively unusual.  It's not unusual for companies that are owned by the Crown.

MR. WARREN:  Certainly it would appear, from the evidence we have in the documents I have referred to and in the actions of the government up to now, that it will take the steps necessary to protect OPG from risk.  Is that not fair?  Its actions suggest that it will do so.

MS. McSHANE:  And where do you see that?

MR. WARREN:  It said, in the Hankinson letter, invest.  It says to this Board, in setting rates under section 78.1, that you are to recover a portion of those costs.

MS. McSHANE:  So, sorry.

MR. WARREN:  It has taken the steps necessary to protect OPG from the risk.  We have evidence that it is willing to do so.  That's you'll I'm asking you.  Right?

MS. McSHANE:  Well, the way I view it is, it has set up a framework, and I agree that the Board has to operate within that framework.  And then when we look at the risk, we look at the risk within the framework that has been established.

MR. WARREN:  Thank you for that.  I will get back to those risks, but there is one other point I wanted to speak about in the context of these documents.


If you would take a look, please, in the regulation at section 5.2, and as I read section 5.2, it says:

"OPG is to establish a deferral account in connection with section 78.1 of the Act that records on or after the effective date of the Board's first order under section 78.1 of the Act the revenue requirement impact of changes in its total nuclear decommissioning liability between (a) the liability arising from the approved reference plan incorporated into the Board's most recent order under section 78.1 of the act and the liability arising from the current approved reference plan."


And subsection 2 says they're to record the interest.


Now, if you then turn to section 6.2.4 -- sorry, 6.2.5, I believe it is.


I'm sorry, 6.2.7.  I'm sorry, Ms. McShane, it is early in the day.  It says:

"The Board shall ensure that the balances recorded in the deferral accounts established under section 5.1.1 and 5.2 are recovered on a straight-line basis over a period not to exceed three years to the extent the Board is satisfied that the revenue requirement impacts are accurately recorded in the accounts, based on the following items as reflected in the audited financial statements approved by the board of directors of OPG..."


Then it says, "return on rate base", et cetera, et cetera.


Now, as I read those two sections, the OPG is to record its liabilities in connection with the decommissioning costs, and it directs the Board to allow them to recover them.


Do you read them in the same way?


MS. McSHANE:  Well, what it says is -- yes, it directs the Board to allow OPG to recover its decommissioning costs.


MR. WARREN:  What I'm suggesting to you, Ms. McShane, is that this is another example of a significant risk for OPG which its shareholder, exercising its unusual power to be able to direct the regulator what to do, has said to the regulator, This risk will be covered-off.


MS. McSHANE:  Well, I wouldn't say it is covered off.  It is mitigated through the regulation that allows the change in liability to be recorded and the change in revenue requirement over the particular period to be recovered.


MR. WARREN:  Now, just finally on the point of the identity of the shareholder, one of the issues that is raised in your prefiled evidence, and I believe was touched on in your testimony yesterday, is the question of OPG going to the market to borrow.  Do you remember talking about that?


MS. McSHANE:  Yes.


MR. WARREN:  Again, you have a far greater sophistication in these matters than I do, but my understanding is that the province of Ontario has a high credit rating and not inconsiderable sophistication where it comes to matters of borrowing; is that fair?


MS. McSHANE:  I would imagine -- I've never talked to them about their level of sophistication, but I would imagine they're relatively sophisticated.


MR. WARREN:  Now, in those circumstances, I'm wondering, Ms. McShane, why the government, which you and I have agreed has a vested interest in the success of OPG, would ever allow OPG to borrow money unless they're the most favourable terms that the province could get.  Why would the shareholder ever do that?


MS. McSHANE:  Because it expects the company to be separately sustainable.


It's trying to create and maintain an arm's-length company.  I would imagine also that it has in mind creation of a level playing field, which would mean not giving the company any undue advantage.


It is a way of forcing the company to stand on its own, to raise funds on the basis of its own stand-alone risks, reflected its true costs to ensure that there is -- that any subsidy there might be is minimized.


MR. PENNY:  Sorry, Mr. Warren, I just point out that part of the premise of your question is also, I think, not founded in the evidence, because Ms. Sidford on the -- with the treasury group, had said at the outset that that is what they do now.  They don't -- even the government loans aren't at the government rate.  They're at a rate that is established for OPG through the rating agencies.


So they do that now.  It's not what they would do in the future.


MR. WARREN:  You would agree with me, Ms. McShane, that the identity of the shareholder -- I don't want to cover ground that's already been covered, but the identity of the shareholder creates for the shareholder an unusual cluster of fiduciary obligations.  It has the ordinary fiduciary obligation -- it has a fiduciary obligation as the government of the province to the residents of the province; correct?


MS. McSHANE:  Yes.


MR. WARREN:  Okay.  And you would agree with me that in carrying out that obligation, it may, at times, be in conflict with its status as the shareholder of OPG?  Would you agree with that?  


For example, letting OPG compete in the market, as you have just described it, may be in conflict with its obligations to the residents to ensure that the, for example, electricity rates are reasonably low; is that fair?


MS. McSHANE:  Sorry, could you repeat that again?


MR. WARREN:  That the identity of the shareholder as the government of the province of Ontario -- not quite accurate, but its representative, Government of Ontario, has obligations to its residents, which may be in conflict with its obligations as the shareholder of OPG?  I use the example --


MS. McSHANE:  When you say "residents", do you mean ratepayers?


MR. WARREN:  Taxpayers, ratepayers, however you want to describe them.


MS. McSHANE:  I would make a distinction between the two.  As shareholder, its obligations are to taxpayers.


MR. WARREN:  Thank you for that, Ms. McShane.  You put it more succinctly than I did.  Its obligations are to the taxpayers of the province?


MS. McSHANE:  Yes.


MR. WARREN:  What I suggested to you, for your response, was that that obligation may place it in a conflict.  For example, you and I were talking about borrowing.  Sending OPG out of the nest to borrow in the open market, where it might get less favourable rates than the province itself could get, might put itself in conflict with its obligations to the taxpayers, if OPG isn't getting the lowest borrowing rate it can; do you agree?


MS. McSHANE:  No.  I don't see that as being a conflict.


I would think, in its role as shareholder, that it would expect its company to stand on its own.  And, as Mr. Penny pointed out, the company isn't borrowing at the government rate now.  It is borrowing at a rate which reflects the credit ratings of as close to peer companies as can be identified.


MR. WARREN:  Ms. McShane, I would like to spend a few moments on your analysis of the various risks.  And a number of my colleagues before me have dealt with this and it is set out in your evidence, but I would like to focus, if I can, in this context, just on the question of the risks associated with nuclear.


Now, this is really a follow-up to some of the exchanges that you had yesterday.


To the extent that nuclear is providing base load supply, my understanding is -- of your evidence -- is that base load supply is less risky than peaking supply.  Is that fair?

MS. McSHANE:  I would say as a general proposition, everything else being equal, yes.

But I don't think everything else is equal, and you do have to look at the type of generation.

MR. WARREN:  Okay.  Fair point.

Now as I understand your evidence -- correct me if I'm wrong -- that with respect to nuclear, there is a risk of outage, in which circumstances, the nuclear assets would not be able to generate any revenue.  They're not generating any electricity itself.  That is a risk, in your view; is that correct?

MS. McSHANE:  Yes.

MR. WARREN:  If, for example, the Board were to raise the percentage recovered in rates with respect to fixed costs to 100 percent, would that cover off that risk?

MS. McSHANE:  If the Board said you could recover all of your --

MR. WARREN:  Fixed costs.

MS. McSHANE:  -- fixed costs, irrespective of how much production, it certainly would go fairly far to covering that risk.

MR. WARREN:  Okay.  Now, with respect to -- as I understood it yesterday, and this is my understanding of your testimony and I could obviously be wrong -- when you were talking about the risks that a regulated nuclear operation faces, it's a risk vis-à-vis that portion of the market which is not regulated.  In other words, if you put nuclear into a mixed market, some of which is regulated and some which is not in a competitive market, that it is risk in those circumstances.  Have I understood your testimony correctly on that?

MS. McSHANE:  Are you talking about the revenue risk?

MR. WARREN:  Right.

MS. McSHANE:  So there's some risk that, some small risk, today, that the plants won't be dispatched.

MR. WARREN:  In your view, is that risk likely to increase as the market becomes more competitive?

MS. McSHANE:  As the market has more base load generation, it would increase.

MR. WARREN:  I am just wondering how realistic the prospect of that competition is?  Certainly from the building of new nuclear facilities, that's a long time horizon, 10 to 15 years, as I understand it.  Fair?

MS. McSHANE:  From, yes, from that perspective.

MR. WARREN:  I am just wondering, Ms. McShane, just to cut to it, where do you see the competition for the nuclear assets coming from, for all of that base load generation?

MS. McSHANE:  It not so much competition.  It is somewhat competition, but it is also, you know, when demand is low and other base load plants being available to be dispatched, instead.

MR. WARREN:  I would like to turn, if I can, to some specific issues related to your use of US comparators, Ms. McShane.

You can -- it's my understanding that various aspects of the various tests you have used, you have looked to US data and US comparators.  Is that fair?

MS. McSHANE:  Yes.

MR. WARREN:  Could I ask you to turn up page 260 of your prefiled evidence?

This is a table which sets out between allowed equity premiums for Canadian and US utilities.

Do you have it?

MS. McSHANE:  I do.

MR. WARREN:  Am I reading this correctly that as a general rule, US utilities have a higher allowed ROE?

MS. McSHANE:  Yes.

MR. WARREN:  And I am a way long way from being an economist -- so you'll correct me if I'm wrong -- generally speaking, with a higher allowed ROE, the companies are more profitable.  Is that fair?

MS. McSHANE:  Yes.

MR. WARREN:  Could I then ask you to turn back to page 232 of your prefiled evidence?  This is a table which shows individual risk data for benchmark sample of US and electric and gas utilities.

If I look -- do you have that table in front of you?

MS. McSHANE:  Sorry, what page are we looking at?

MR. WARREN:  232, right in the upper right-hand corner.  It is really tiny.  I'm just complaining a little bit, Ms. McShane.

MS. McSHANE:  Oh, I see that.

MR. WARREN:  Am I reading this correctly that the average common equity ratio for US utilities is about, roughly speaking, about 45 percent and, on the whole, higher than Canadian utilities?

MS. McSHANE:  That's right.

MR. WARREN:  Now, I'm given to understand, Ms. McShane, that all else equal, a higher ROE and higher common equity should result in higher bond ratings.  Is that a fair conclusion?  General rule?

MS. McSHANE:  Everything else being equal, yes, that would be the case.

MR. WARREN:  Could I then ask you to turn to page 253 and following of your prefiled evidence?

MS. McSHANE:  Can we just note, on page 232 -- this is the benchmark low risk sample -- and their companies are rated A and A 3 by the two rating agencies.

Sorry, now you want me to turn to what page?

MR. WARREN:  253.

MS. McSHANE:  253?

MR. WARREN:  Yes.

MS. McSHANE:  I have that.

MR. WARREN:  You've listed, on 253, 254, 255, the debt ratings and financial metrics for US electric utilities.  On the first of the pages, the debt ratings are all A or A minus.  I think there is an A plus in there, but the printing is so small, I can't tell.

MS. McSHANE:  Sorry.

MR. WARREN:  They're all A or A minus.

MS. McSHANE:  Yes.

MR. WARREN:  Okay.  I then go to the second and third pages and they're all B, BBB, or less.

MS. McSHANE:  Correct.

MR. WARREN:  Finally, if you could return -- I apologize for making you jump around -- but return to the one we were looking at earlier, which is page 252.

MS. McSHANE:  252?

MR. WARREN:  252, yes.  There we have the debt and common stock ratings of Canadian utilities.

I see that the Canadian utilities, with a couple of exceptions, are all A, or variations on A; is that correct?

MS. McSHANE:  Correct.

MR. WARREN:  Now, putting all of those data points together, Ms. McShane, we have higher allowed ROE as a general proposition for US utilities, higher common equity, broadly speaking, lower bond ratings for the US utilities.

Does that not lead us to the conclusion that the US utilities are riskier than their Canadian counterparts?

MS. McSHANE:  I think we had this discussion yesterday.  I would say, as a universe, that that would be correct.

If you look at the low risk utilities, no.

MR. WARREN:  Okay.  Could I ask you turn back to 232? I'm actually re-engaging in this exercise, Ms. McShane, just as a way of reminding you repeatedly how tiny this print is, and how painful the exercise is for a guy my age trying to read this at any hour of the day or night.

MS. McSHANE:  And me, as well.

MR. WARREN:  The point I want to return to here is, I look to the average market book ratios of the US utilities here, and it's roughly 1.84.  Would you take that, subject to check?

MS. McSHANE:  I see that number.  Believe it or not, I can actually read it with my glasses on.

MR. WARREN:  Then if I take you to page 244, where we have the market book ratios of the listed Canadian utilities.  It's -- if you take this subject to check, it is roughly the same market-to-book ratios as the US utilities we just looked at.


MS. McSHANE:  Yes.


MR. WARREN:  Again, it strikes me that if they're more profitable, the market-to-book ratios for the US utilities could be better and may I -- is it fair for me to conclude the reason they are not better is that the US utilities are regarded as riskier than the Canadian?


MS. McSHANE:  Well, what we're doing here is comparing a specific sample of US utilities.  I forgot which page we were on before.


MR. WARREN:  We were on 232.


MS. McSHANE:  232, okay.


So on page 232, what this represents is a sample of relatively low risk US utilities, which, just to be clear, are intended to serve as a proxy for a benchmark average risk Canadian utility.


The returns that the market sees for the Canadian utilities are the returns of the parent companies, not the actual returns that are allowed by the regulator.


So the market-to-book ratios for the Canadian utilities aren't reflecting the 8-1/2 percent that the regulators are allowing today, but considerably higher returns that have been achieved.


MR. WARREN:  Okay.


MS. McSHANE:  Mostly by the unregulated operations.


MR. WARREN:  My final point of comparison I wanted to take you to with respect to the use of US and Canadian comparators begins on page 225.


This is your analysis of betas for regulated Canadian companies.  Can you take it, subject to check, that for these Canadian listed utilities the beta is 0.5 or lower, as a general rule?


MS. McSHANE:  Yes, they have been generally around 0.5.


MR. WARREN:  If I compare those to the betas for the US utilities at page 257, and if I look at the various betas that are listed on page 257 for your US utilities, they are somewhere around 0.8 or higher; is that correct?


MS. McSHANE:  Sorry, what page are we on now?


MR. WARREN:  257.


MS. McSHANE:  257.  Well, it depends how you calculate them.  What I would ask you to do, for comparative purposes, is to look at -- just so we keep focussing on the same sample of companies for this purpose, and for that purpose I would focus on the benchmark sample, because that's the return that I am establishing.  And I am using the sample of benchmark US utilities, low-risk utilities, to establish that.


So for that purpose, we would take a look at -- again, back at page 232.  And, in particular, I would ask you to look at the column that says "Resource Insight Beta".


MR. WARREN:  All right.


MS. McSHANE:  The reason that I focus you on that particular column is because the betas in that column were calculated in an identical fashion to the ones that were calculated for the Canadian utilities, whereas the other -- the ones in the column next to it that say -- that are under the large title "Value Line" are actually numbers that are published by them.


So I know, having calculated both the Resource Insight betas -- when I say "Resource Insight Beta", that means I used price data that is provided by them, but I calculated the betas myself, and they're quite similar to those of the Canadian companies.


MR. WARREN:  As I read the Resource Insight Beta" column you just pointed me to, I still see that the betas are, in most cases, well above 5?


MS. McSHANE:  These are adjusted betas.  So the comparison would be to -- if you come back to page 225, and in the bottom half of the table, way to the right --


MR. WARREN:  Right.


MS. McSHANE:  -- we have a mean and median there of 0.55 and 0.56.  That would be the most comparable number.


If you look back at page 232, the numbers are 0.53, 0.6 and 0.59, so I would say that they are relatively comparable.


MR. WARREN:  The final point on this comparison, the data points, so that I can understand them, is if you could turn to page 163 of your prefiled evidence.


MS. McSHANE:  163?


MR. WARREN:  163, yes.


MS. McSHANE:  This is the discounted cash flow test?


MR. WARREN:  Yes, it is the discounted cash flow.  My particular point of focus is your use of the reliance on the investment analysts' growth forecasts, and that, the particular details of that, are found on the next page, page 164.


As I read these articles -- sorry, as I read this second paragraph, the list of articles, the most recent of the articles you have relied on is 1989 and the earliest is 1978; correct?


MS. McSHANE:  Yes.


MR. WARREN:  Now, I would like you -- just by point of contrast, if you have a copy of Dr. Booth's prefiled evidence, and at pages 84 and 85 of that.  Mr. Stephenson tells me I should wait until you have it in front of you.  That's not fair to me.  I want to catch you off guard.


MS. McSHANE:  Page 84?


MR. WARREN:  Pages 84 and 85.  This is a point where you and Dr. Booth, I take it, join issue, but I want to get your response to it.


When Dr. Booth points to an article at the bottom of page 85, where he talks about an article by Easton and Sommers.  It is footnoted there as a 2007 article in the Journal of Accounting Research.


And the burden of that article, as I understand Dr. Booth's evidence, is that these analysts' forecasts have a bias of about 2.84 percent.  Do you read that?


MS. McSHANE:  I see it, yes.


MR. WARREN:  Then there is a quote at the top of page 86 of his testimony, from Easton and Sommers, which says:

"We show that on average the difference between the estimate of the expected rate-of-return based on analysts' earnings forecast and the estimate based on current earnings realizations is 2.84 percent, and estimates of the expected rate-of-return in the extant literature are adjusted to remove the effective optimistic bias in analysts' forecasts.  The equally weighted estimate of equity risk premium appears to be close to zero.  We show, however, that when estimates are based on valuated analyses, the bias in the estimate of the expected rate-of-return is lower and the estimate of the expected equity premium is more reasonable, 4.43 percent."

Do you agree, Ms. McShane, with Dr. Booth's conclusion, based on Easton and Sommers, that reliance on the analysts' forecasts biases the data upward?

MS. McSHANE:  Well, I think I discussed this yesterday.

MR. WARREN:  You were talking about Standard & Poor's, I think, yesterday, and not the --

MS. McSHANE:  Well, in my, at least in my direct examination, I had reference to analysts' forecasts.

MR. WARREN:  Right.  I apologize.  Yes, you did.

MS. McSHANE:  My comment on that was that the -- these studies are looking specifically at the market as a whole, and the companies that make up the market as a whole, which are higher growth companies, overall, than utilities.

I have never seen a study that looks at forecasts for utilities in particular.  And in my direct examination, I explained that I had looked specifically at the analysts' forecast for this sample of companies to determine if there was any evidence of an upward bias, and I concluded that there was not, and that investors would have no reason to infer, from the specific numbers for the utilities, that there would be an optimism bias.

MR. WARREN:  Thank you for that, Ms. McShane.

I would like to turn, finally, to a couple of the documents which I had introduced in evidence this morning.  The first of these is marked as K11.1, and it is the 2004 report of the Board, decision and order of the Board in its review of the guidelines for establishing return on equity of the two largest gas utilities in the province.

The bound document --

MS. McSHANE:  This is RP-2002-0158?

MR. WARREN:  Right.  I am going to take you to numbered paragraph 122.  The decision is not paginated, so you have to go by the paragraph numbers.

MS. McSHANE:  But the numbers are very small.

MR. WARREN:  Oh, yes?  Don't blame me.

MS. McSHANE:  Sorry, what paragraph?

MR. WARREN:  122.  If I had known you were going to have a problem, I would have made them smaller.

It says, and I quote:

"Discussions of ROE decisions from other jurisdictions invariably come into the evidence and arguments of parties.  We continue to view such evidence as informative. However, we do not believe that decisions in other jurisdictions are determinative of what ought to be a prospective fair ROE for Ontario utilities.  There are many reasons why ROE may differ from one jurisdiction to another in North America.  This may include differences in legislation, timing, tax laws, accounting practices, risk considerations arising from different capital structures and from regulatory practices which may or may not shield the utility from business or weather risks and other regulatory considerations unique to each jurisdiction, including varying reliance on the common tests for determining fair ROE.  There was no evidence that would allow the Board to make a meaningful comparison of these factors, including the relative riskiness of Canadian and American utilities, in order to understand the difference in ROE between American and Canadian utilities.  The bare facts that American utilities might earn a higher ROE than Canadian utilities, as suggested by Ms. McShane and argued by the applicants, is an inadequate basis on which to determine whether the ROE for the applicants should be increased to a level similar to the ROE for American utilities.  Similarly, the fact that some of the Canadian regulators may have awarded higher or lower returns than the Ontario Energy Board, while informative, is not determinative for largely the same reasons."

Then going on to paragraph 123:

"Ms. McShane suggested the difference in ROE between American and Canadian utilities was a factor that could create a disadvantage for Canadian utilities and their shareholders. However, we find no evidence to suggest that such a disadvantage currently exists or is likely.  Mr. Case suggested Union, for example, must now compete for equity capital with the other global subsidiaries of Duke Energy, Union's parent, if Union cannot offer a competitive return with other units, capital might be more difficult to obtain from the parent company.  There was no evidence before the Board to suggest that the applicants are experiencing any difficulty in raising equity capital from or through their respective parents."

The next -- so just dealing with the observations made by the Board there, particularly with respect to the reliance on US data, if I could take you to the second of the two exhibits, K11.2, this is the "Report of the Board on the cost of capital and 2nd generation incentive regulation for Ontario's electricity distributors."

If I take you, first, to page 20, in the first paragraph, the Board refers, again, to you, and the advice you were giving to Hydro One Networks Inc..

And it indicates in the middle of it that you were relying on the three tests which you have used in this case.  And it says, then, in the middle of the paragraph:

"However, they -–" meaning you and Mr. Canfield  –- "also implied, to a lesser or greater extent, US data in addition to Canadian data. Distributors have argued that they must compete for financing in global market and hence that use of US data is justified on a comparable earnings basis.  However, the inclusion of US data is a source of controversy, as allowed returns in the United States have typically been higher than those approved in many Canadian jurisdictions and the market return is higher in the United States."

If I turn to the next page, 21, the first full paragraph, it says:

"While distributors supported the significantly higher ROE estimates of their consultants, many stakeholders, both distributors and consumer groups, recommended the retention of the Board's current approach rather than the adoption of Dr. Lazar's and Dr. Prisman's method.  This suggests to the Board that the current approach results in a return sufficient for distributors to continue to attract capital, therefore the Board has determined that the current approach to setting ROE will be maintained."

Now, I am going to put to you the conclusions which I draw from both of the documents in the extracts which I have read, for your response, Ms. McShane.

As I read the two documents, you, among others, have urged this Board to base its consideration of ROE on, among other things, US data.  And this Board, at least in these two decisions reflected here, has rejected doing that.  Is that not a fair conclusion on my part?

MS. McSHANE:  They have rejected, apparently, at least to some extent.  I mean what I hear is that they believe that the results from other jurisdictions are not determinative.

I know that the Board had sought and received a study, which focussed on gas distribution companies, which concluded that there was no difference of materiality in regulatory approach or in capital markets that would explain the difference in returns that are being adopted for Canadian utilities versus US utilities.

So, I think that if you look at those two aspects, that we have another study in front of us -- not in front of us, but that has been prepared, that indicates that those differences are not material enough to justify the differences.  And it seems to me that, in that context, it is relevant to look at what's happening in the US.

MR. WARREN:  The other observation that is included in the first of the reports at page 123 is that there is no evidence that the Canadian utilities were having difficulty borrowing funds.


I take it, from the exchanges we have had to this point in your testimony, is that the same is true today.  The utilities, with their lower ROEs, are not having any difficulty borrowing funds?


MS. McSHANE:  Well, that may be.  I don't think that whether or not the utilities can borrow money is what's the most relevant criterion when we're looking at what the returns should be.


I think it is pretty well established that there are three different criteria for establishing a return on equity.  They're focussed on creditworthiness, financial integrity, and comparable returns.


So I certainly wouldn't look at whether or not a utility could borrow debt to determine whether or not the return is fair.


MR. WARREN:  The final point I want to take you to, Ms. McShane, again, in the context of these two documents, is if you could return to the 2004 decision, Exhibit K11.1.  This time, if you could turn up paragraph 131, the Board says, and I quote:

"On the basis of the evidence adduced in this proceeding, we find that the reservations that the Board expressed in the compendium to the current ROE guidelines about a CE," that has comparable earnings, "and DCF approaches and the Board's decision to employ these tests remain valid.  With respect to the CE test, we continue to be concerned with the problems associated with the assembling of an acceptable list of comparable companies against which to assess the regulated utility, as well as the selection of a suitable time period from which to draw historical evidence.  We note that the subjectivity involved in the selection of an appropriate sample of comparators and a selection of the time period were the primary factors in arriving at an ROE difference of 300 basis points between Ms. McShane and Dr. Cannon.  We also reiterate our concern with this test's heavy reliance on past performance as the indicator of future performance."

Next paragraph, 132:

"With respect to the DCF test, we note the sensitivity of the results to assumptions including growth estimates.  We note that as a result of different assumptions, Ms. McShane's ROE result from the DCF test is over 200 basis points higher than the results obtained by Dr. Booth and Dr. Cannon.  Further, in the context of the specific applications before us, we remain uncomfortable with the results of the DCF tests given that the shares of the applicants are no longer traded in the open market."


Finally, at 133:

"As a result of the above, we reiterate the Board's conclusion it reached when it developed the existing ROE guidelines that the results from the CE and DCF test should be given little or no weight for the purposes of these applications."


Then if you could turn to the second of the two documents, Exhibit K11.1 -- sorry, 2, I apologize, at page 20, it says, in the middle of that paragraph, referring to your evidence and that of Camfield and Christensen, it says:

"Both of these studies relied on the three standard methods for determining ROE: CAPM, the Discounted Cash Flow... and Comparable Earnings.  These studies relied on a longer time series...  However, they also employed to a lesser or greater extent US data, in addition to Canadian data."


Then at page 21, it says in the quote I have already put to you:

"This suggests to the Board that the current approach results in a return sufficient for distributors to continue to attract capital.  Therefore, the Board has determined that the current approach to setting the ROE will be maintained."


Would you agree with me that in 2004 and again in 2006, the Board has, by and large, rejected the use of the comparable earnings and the DCF methods?


MS. McSHANE:  They did.


MR. WARREN:  Thank you very much, Ms. McShane.  Those are my questions.  Thank you.


MR. KAISER:  Thank you, Mr. Stephenson.

Cross-examination by Mr. Stephenson:


MR. STEPHENSON:  Thank you, Mr. Chair.


Good morning, Ms. McShane.  My name is Richard Stephenson.  I'm counsel for the Power Workers' Union.  How are you?


MS. McSHANE:  Good morning.  Very well, thank you.


MR. STEPHENSON:  Thank you.  I just have questions for you briefly, I think, on one topic, and that pertains to a document that I had distributed, and I think I gave a copy to you directly, which is a letter from CIBC World Markets to the Minister of Energy dated October 17th, 2005.


Do you have that?


MS. McSHANE:  Yes, I do.


MR. STEPHENSON:  Okay.  


MR. BATTISTA:  I think we should give that an exhibit number.


MR. STEPHENSON:  Sure.


MR. BATTISTA:  That is Exhibit K11.3.

EXHIBIT NO. K11.3:  LETTER FROM CIBC WORLD MARKETS TO THE MINISTER OF ENERGY DATED OCTOBER 17, 2005


MR. STEPHENSON:  Thank you.  Just looking at that document, before we get to the detail of it, I take it that you are aware that there are two nuclear operators in the province of Ontario.  One is OPG and the other is Bruce Power?


MS. McSHANE:  I am aware of that.


MR. STEPHENSON:  Okay.


I take it that you are aware that Bruce Power is a private sector entity?


MS. McSHANE:  Yes, I am aware of that.


MR. STEPHENSON:  Okay.  And they are the operator of the Bruce nuclear facility; correct?


MS. McSHANE:  Right.  


MR. STEPHENSON:  Okay.  Now, the document that I am referring to you, as I understand it, is something which is known as a fairness opinion.  I take it you have had an opportunity to look at the document, have you?


MS. McSHANE:  I have.


MR. STEPHENSON:  Are you generally aware of the underlying transaction to which the document pertains?


MS. McSHANE:  I am generally aware of it.


MR. STEPHENSON:  Okay.  As I understand it, essentially what was going on was that the OPA, who is the procuring authority for power in this province, was entering into an agreement with Bruce Power in order to facilitate the refurbishment of some laid-up nuclear units, and that there was various contractual terms in order to essentially accommodate that refurbishment.  Is that consistent with your general understanding?


MS. McSHANE:  Yes.


MR. STEPHENSON:  Okay.  Now, are you familiar with the concept of what fairness opinions are, generally?


MS. McSHANE:  Yes.


MR. STEPHENSON:  Okay.  Am I right that essentially the purpose of a fairness opinion is that one or the other of the parties seeks somebody who is independent to the transaction to review it in order to satisfy somebody that some aspect or all of the aspects of the transaction are fair from the perspective of that party?


MS. McSHANE:  Yes.  That's -- for example, if there's going to be a purchase of a company by another company, then an investment banking firm is often hired to assess whether that price would be fair to one party, and there may be another one hired to look at it from the perspective of the other party, the seller and the buyer.


MR. STEPHENSON:  All right.  Without getting into the -- there is no mystery as to the reason I am taking you to this document.


In this document, the CIBC World Markets expresses an opinion regarding what is a fair rate of return to Bruce Power regarding this particular transaction.


I am going to take you to that in a moment, but before I do so, I just want to ask this question of you.  Were you aware of this document at the time you prepared your initial opinion in this matter?


MS. McSHANE:  I don't recall.  I know that I've -- I had seen this document in the past, but I don't recall whether I had seen it before I started preparing my analysis, or not.


MR. STEPHENSON:  However, I take it that you have reviewed it for -- certainly some time after you have prepared your initial evidence and before today?


MS. McSHANE:  Yes.


MR. STEPHENSON:  The question I am going to ask you at the end of the day is whether the opinion expressed by CIBC World Markets regarding this transaction - that is the Bruce refurbishment transaction - whether you consider it to be relevant in any way to the opinion that you have expressed here, and to what extent, if any, it affects your opinion that you have expressed here.


Before I ask you that question, however, I just wanted to take you to page 2 of the letter where -- this is the conclusion of where the CIBC World Markets sets out what it is doing.  If you see small Roman numeral iv at the top of page 2, you will see that one of the things that they are doing here is that the transaction is:

"... providing the supplier an opportunity to earn a financial return commensurate with the risks associated with its commitment to refurbish and restart units 1 and 2."

Do you see that?

MS. McSHANE:  I do.

MR. STEPHENSON:  If you go down to the middle of the page, the paragraph starting, "Pursuant to the engagement agreement"; do you see that?

MS. McSHANE:  I do.

MR. STEPHENSON:

"The MOE -–" which is the Ministry of Energy –-"has requested that we prepare and deliver this opinion as to the fairness to the OPA from a financial view, the principal financial terms of the proposed agreement."

Do you see that?  I take it you understand that is the purpose of the letter?

MS. McSHANE:  I do.

MR. STEPHENSON:  Okay.  Now, obviously this transaction is different than the exercise that the Board is undertaking here, in terms of assessing an ROE for OPG.  But I did want to just raise some of the issues by which it may well be considered to be different, and get your comment on them.

Number 1 is, I take it that this transaction would be at least different from OPG's prescribed assets, in the sense that Bruce Power was undertaking here some risk regarding construction costs and getting the project on time and on budget.

I take it that is a different kind of risk than OPG faces?  Fair?

MS. McSHANE:  Could we just back up one step first?  

MR. STEPHENSON:  Sure.

MS. McSHANE:  I would start by saying, first of all, that the recommendation that I made here is for all of the prescribed assets, so that recommendation reflects the lower risk hydroelectric assets.  So I think we have to just keep that in mind to start with.

But to address your specific question, my understanding is that with respect to the Bruce transaction that, yes, they were taking on some of the construction risk.  There was a sharing of construction risk, as I understand it.

MR. STEPHENSON:  All right.  Secondly, I take it that there is a point of distinction or potential distinction, would be that, unlike OPG in the context of the prescribed assets, Bruce Power is -- would be selling the output of the facilities, in essence, in the open market.

MS. McSHANE:  Correct.  But I understood that they had a fixed price in the contract for that output, and that price would increase by some percentage of the CPI every year over the life of the contract.

MR. STEPHENSON:  Right.  Actually, if you go to Page 5 of the letter, sort of at the middle of the page, paragraph says:

"We also understand that the agreements entitle the supplier to a specified selling price in respect of the actual Bruce A electricity generation for the full term of the agreements, defined as the contract price.  The initial contract price will be $63 a megawatt."

Do you see that?

MS. McSHANE:  Yes.

MR. STEPHENSON:  I take it that is what you're referring to?

MS. McSHANE:  Yes.

MR. STEPHENSON:  Okay.  If I could just then take you to page 9 of the letter, you will see here there is a heading called "summary of our analysis".  Do you see that?

MS. McSHANE:  Yes.

MR. STEPHENSON:  It carries on and talks about a variety of things, but at the bottom of that page, the last paragraph, you will see:

"CIBC World Markets uses the Capital Asset Pricing Model, CAPM, to determine the opportunity cost equity for the supplier."

Obviously, I take it that, as you have described, that's one of the models that you utilize in your exercise.  Fair enough?

MS. McSHANE:  Correct.

MR. STEPHENSON:  And they describe how CAPM works, and I take it that is a fairly standard and accurate description of the CAPM model?

MS. McSHANE:  Yes.  Starting at the bottom of 
page 9 --

MR. STEPHENSON:  Over the top.

MS. McSHANE:  The risk-free rate-of-return, the beta, and the market equity risk premium.

MR. STEPHENSON:  Okay.  And if we can, just on page 10, about two-thirds of the way down the page, paragraph starting:

"Based on our estimate of the supplier's beta, the risk-free rate and our estimates of the equity premium, size premium and supplier premium, CIBC World Markets has estimated the supplier's cost of equity be in the range of 13.7 to 18 percent."

MS. McSHANE:  Correct.

MR. STEPHENSON:  Okay.  I guess the question I have for you is this:  Bearing in mind that this is an Ontario nuclear generation facility, do you view CIBC World Markets' views regarding the -- its estimate of an appropriate cost of equity to be, in any way, relevant to the kind of analysis that you have undertaken for OPG in this case?

MS. McSHANE:  Well, I guess I would say, to the extent that we're dealing with basically very similar assets, that, yes, there would be some relevance.

Bruce is really the only operation that could be considered, from sort of a fundamental operating perspective, the same as OPG's prescribed nuclear assets.

I would note that their point of departure for estimating the equity return for Bruce seems to be sort of a similar approach that I took, which is to look at comparables.  And their comparables -- when you look at, well, the first paragraph at the top of page 10 -- they looked at betas of several public companies considered by us to be indirectly comparable to the supplier, including British Energy and six additional public electricity generation companies, and 19 public utilities with some level of nuclear generation capacity.

Of course, I didn't look at British Energy and I didn't look at six additional public electricity generation companies, but I did focus on public utilities with a level of nuclear generation capacity.

If you come down and look at the numbers, I think what they do is provide, to me at least, some comfort that the recommendations that I have made are certainly in the ballpark.

I guess because there's a difference in capital structure and ROE, if you look at -- I have to remember where this was.

MR. STEPHENSON:  Yes.  We didn't talk about capital structure --

MS. McSHANE:  They're saying -- this is on page 9 -- I mean they're saying that a transaction of this type could probably have a reasonable capital structure of between 20 and 40 percent debt, so let's call that 30 percent, and we're talking about something considerably higher than that, 42-1/2.  Well, again that is for the combined assets.

But if we looked sort of at the OPG nuclear assets in the context of the IRs that I prepared where I was asked to separate out the cost of capital for the nuclear and the hydroelectric, if you compare the CIBC's weighted average cost of capital, which combines the capital structure in the ROE --


MR. STEPHENSON:  That's at the bottom? 


MS. McSHANE:  That's on page 10 in the paragraph just before comparison of targetted and estimated IRR to the supplier WACC, so we've got -- these are after-tax costs of capital of 10.6 to 13.8.  The midpoint of that is about 12.  I did a comparison:  What is my result if I had used the numbers that I prepared for Pollution Probe's IRs when they asked me to look at nuclear separately?


And my number for the nuclear assets is around 8 percent on an after-tax basis.  So when you consider the -- there are greater risks, obviously, with the Bruce transaction.  They don't have the regulatory protection, but it's the same type of assets.  I would say that the differential is imminently real.


MR. STEPHENSON:  The last thing just on this is you will see that this was prepared back in October of 2005.


MS. McSHANE:  Yes.


MR. STEPHENSON:  Okay.  And obviously now we're heading towards three years later.


MS. McSHANE:  Correct.


MR. STEPHENSON:  Just on that time differential, in terms of your knowledge of financial circumstances -- 


MS. McSHANE:  Yes.


MR. STEPHENSON:  -- would that shift in time materially impact on your view of what CIBC would have said now, if it was asked to do the same thing, or how it relates to what you have done?


MS. McSHANE:  Well, that's a good question.


If you come back to the same area of the -- let's look at page 9, and we look at the paragraph that says, "In preparing our financial analysis".  That's about --


MR. STEPHENSON:  Second from the bottom?


MS. McSHANE:  Yes.  We calculated the after-tax cost of debt based on the risk-free rate of return and an estimated borrowing spread, and then they give you the pre-tax cost of debt of 6.2.


So while they don't tell us what the risk-free rate or the spread is, we can make reasonable assumptions about the combination, and so we are back in October 2005.  Spreads for A-rated companies probably were 130 basis points.  


I don't know what their assumption was, as far as the credit rating, but it doesn't really make that much difference.  The risk-free rate would have to be in the 4-1/2 to 5 percent range, which is pretty similar to what we're looking at now.


So I would say, from that perspective, there wouldn't be any material shift from a change in capital markets' perspective.


MR. STEPHENSON:  All right.  So is it fair to say that, obviously while acknowledging there are a number of differences, this gives you some degree of comfort regarding the range that you have given?


MS. McSHANE:  It does.  You know, one of the things that I might point out is clearly regulation does make a difference.  I don't think we can -- you know, nobody would deny that.


However, there is also the impact of the type of assets and business that the two companies are in, and those also have to be taken into account, that there are similarities there.


It occurred to me, when I was looking at this document, that back -- I think it was in the Hydro One transmission proceeding.   The Board Staff's experts, in that case, were attempting to determine whether there was a differential in risk between distribution and transmission.


As a part of doing that analysis, what they had to do was to try to establish what the risk of generation was, because essentially what their analysis was saying, All right, I've got three pieces.  I've got generation, distribution, transmission.  I have to have at least one known in order for me to determine the difference between the other two pieces.


And so the objective was to find the risk of the distribution versus the transmission.  So they assumed, for purposes of a number of regulated, vertically-integrated electric utilities, which had all three pieces, that the cost of equity for generation, regulated generation, was the same as the cost for equity for unregulated generation.


And in the interrogatory process, they were asked a question, Well, don't you have to take into account the fact that you're using unregulated companies as a proxy for regulated companies?  And what their response was was that effectively you're dealing with companies in the same business.


So from their perspective, the risks were comparable.  I don't totally agree with that, because I do believe that regulation is, typically, a risk mitigator, in that it can frame the fundamental risks and lower risks while that framework is in place, at least, to shareholders.


But I do agree with them that regulated and unregulated generation are going to share certain risk characteristics that can't be eliminated.


MR. STEPHENSON:  Thank you, Ms. McShane.


Thank you, panel.  Those are my questions.


MR. RUPERT:  Ms. McShane, could I ask a follow-up?


The project that this opinion relates to is a refurbishment project.


MS. McSHANE:  That's my understanding, yes.


MR. RUPERT:  Obviously there's -- as we have heard, there are risks associated with refurbishments, and, as you pointed out and Mr. Stephenson has pointed out, there are various aspects of this that may share risks.  Bruce may be subject to risks in the regulated versus unregulated, which you just talked about.


MS. McSHANE:  Right.


MR. RUPERT:  As I understand the evidence in this case, OPG has made no commitment to do a refurbishment at its Pickering units.  That is a decision that the board of directors of the company has not made and will not make, I understand, until at least next year.


MS. McSHANE:  Correct.


MR. RUPERT:  So the prescribed assets, as they exist today, do not include any refurbishment activity of a nuclear unit.  The collection of operations that we have in this case do not include a refurbishment activity.  To the extent there is any money being spent on it, sort of prework, my understanding is the deferral account got set up.


MS. McSHANE:  Right.


MR. RUPERT:  So Bruce is undertaking this project and is, I guess, in the middle of it now.  OPG is not undertaking a refurbishment?


MS. McSHANE:  Correct.


MR. RUPERT:  So refurbishment of units strikes me is different than operating existing units that have already been constructed and paid for.  I wanted to ask you if that is a distinction you would share.


MS. McSHANE:  Yes.  I mean, I think that's a distinction.  Granted, this is a bit opaque -- opaque, I say, I guess in terms of how the rate of return was arrived at, but I would say that based on the information that we have within the report and how they -- what their point of departure was, in terms of the comparables they used to determine what they were going to use as a discount rate, I'm not sure that the distinction is in the cost of capital.  


The distinction is probably in how they looked at the cash flows and sensitivity of the cash flows to the refurbishment.


MR. RUPERT:  This is what I am trying to get your view on was, if you had two cases, one where a company is given a completed plant, completed nuclear plant, ready to be turned on, and given that at a fixed price and said:  Go finance it, debt and equity, and it is yours to run.  Here is the fixed price you can pay for it.

Situation B is:  Why don't you build a nuclear plant or refurbish -- refurbishment sounds a bit like it is not far off building a new one, in some respects.  We will do a deal up.  You finance the debt and equity.

It strikes me that it would not be too far of a stretch to say building/refurbishment is a riskier activity than being sold a plant, but you know it is going to operate at a known cost.

MS. McSHANE:  I don't disagree with that.  That's why, when I said that we would look at the difference, that there's a huge difference between what OPG is requesting and the numbers that are in this.

MR. RUPERT:  Thanks.

MR. KAISER:  Thank you.

Take the morning break at this point and come back in 20 minutes.

--- Recess taken at 11:09 a.m. 


--- Upon resuming at 11:36 a.m.


MR. KAISER:  Please be seated.  We're going to break at 12:30 sharp today for lunch break.  Mr. Rupert has a commitment.  Mr. Stephenson, I understand you had another question?


MR. STEPHENSON:  I did, and if I might just have the Board's indulgence for a moment, I got so wrapped up in one thing I forgot the second.  This should just, I hope, take a minute.


Ms. McShane, yesterday you were asked some questions regarding your analysis of the issue of regulatory risk, and there was an exchange between you and counsel and the Board regarding that issue.  Do you recollect that interchange?


MS. McSHANE:  Yes.


MR. STEPHENSON:  If I could, I would just like you to turn up one document, which is the S&P rating report which is filed in the prefiled evidence.  It is at Exhibit A-2, tab 3, schedule 1, attachment B.


I know you are familiar with the document, but I think you need to ask you to turn it up.


S&P.  Okay, if I can get you -- first off, you are familiar with this document, I take it?


MS. McSHANE:  This is -- what's the date on the S&P report?


MR. STEPHENSON:  Now you are asking difficult questions.


MS. McSHANE:  There are a couple of them in here, that's why.


MR. STEPHENSON:  Well, the second one follows.  It is -- the last two pages of the tab is the second one.


MS. McSHANE:  Sorry, so it is Exhibit A-2-3-1, attachment B?


MR. STEPHENSON:  B as in Bob.


MS. McSHANE:  Okay.


MR. STEPHENSON:  If I can just get you to turn to -- I think it is page 5.  It is sort off cut off at the top.  It is the third page in.


MS. McSHANE:  Is there a heading at the top of the page?


MR. STEPHENSON:  We're on the right facing page.  At the top of the page, it says, "Business Description".


MS. McSHANE:  I have "Business Description", yes.


MR. STEPHENSON:  Okay.  Then if you go to the bottom of that page, you will see a subheading.  Under the heading "Business Risk Profile, there is a subheading "Regulation."  Do you see that?


MS. McSHANE:  Yes, I do.


MR. STEPHENSON:  They talk about various aspects of regulation.  If I can take you over to the next page, and, in particular, the second full paragraph on that page starting with, "It will be several years".


MS. McSHANE:  I see that.


MR. STEPHENSON:  I'm not going to read it to you, but if you could, I would just ask you to review it now and I am going to ask you a question about it.


MS. McSHANE:  Okay, I have read it.


MR. STEPHENSON:  My question for you is this:  When you were talking about regulatory risk, is this essentially the kind and nature of regulatory risk that you were referring to and relying upon in your opinion?


MS. McSHANE:  I would say that this is clearly part of the regulatory risk that arises when you have a totally different kind of company subject to a new regulatory regime, yes.


MR. STEPHENSON:  There's sort of a, if I can call it, novelty risk here?


MS. McSHANE:  Yes.  It takes a while to understand the business, and, you know, what might be appropriate for a generation company is different from a distribution company in terms of what costs are incurred for different functions, et cetera.


MR. STEPHENSON:  Okay, that is my question.  Thank you, Ms. McShane.  Thank you for that indulgence, Mr. Chair.


MR. KAISER:  Thank you.  Mr. Thompson.


MR. THOMPSON:  Thanks, Mr. Chairman.  Mr. Poch and I were competing for the next spot, and I don't think I would finish by 12:30, so I am going to let him go and at least he will get away on time.

Cross-examination by Mr. Poch:


MR. POCH:  Thank you.  Thank you, Mr. Thompson.


Do I have a mic on now?


Ms. McShane, I am David Poch.  I am cross-examining you on behalf of the coalition -- a broad coalition of environmental groups.


First of all, if I may just bring you back to the conversation you had with Mr. Stephenson and the follow-up questions from member Mr. Rupert, did I understand you correctly -- obviously you have made the point that the situation is somewhat different for Bruce than it is for OPG, in that Bruce is engaging in the refurbishment, and then the operation.


But did you understand the CIBC letter to be about a deal which involves Bruce running those reactors for the life of the reactors?


MS. McSHANE:  Well, yes.


MR. POCH:  All right.  Did you understand -- is it your interpretation of the letter that the primary basis for their opinion and their numbers was this comparison with other nuclear generation companies and utilities?


MS. McSHANE:  I guess what I understood, in terms of determining the cost of equity that they were going to use to -- as the discount rate, was based on comparables, which are operating companies.  And in that context, there is no refurbishment risk, if you will, built into the discount rate.  The refurbishment risk would be built into the cash flows, just because, I mean, there wouldn't be any comparables, to speak of, you know, whose cost of capital would specifically reflect refurbishment, because there just aren't that many companies doing refurbishments.


MR. POCH:  You exactly understood what my next question was, so thank you.


All right, turning to the matters I wanted to address, which is predominantly the benefits of differentiating the cost of capital between the two divisions, nuclear and hydraulic, Mr. Chairman, I have assembled some exhibits I will be referring to, which I trust are before you in a package.


MR. KAISER:  Yes, we have them.


MR. POCH:  Perhaps we should give it a number.


MR. BATTISTA:  That will be Exhibit K11.4, and the exhibit is titled "GEC, Pembina, OSEA cross materials".

EXHIBIT NO. K11.4:  BOOK OF DOCUMENTS ENTITLED "GEC, PEMBINA, OSEA CROSS MATERIALS".


MR. POCH:  Thank you.  Do you have that, Ms. McShane?


MS. McSHANE:  Yes, I do.


MR. POCH:  All right.  You can turn to page 2 of that exhibit to start.


This is the interrogatory where you responded to Pollution Probe's request to indicate the difference in ROE or cost of capital with and without the 25 percent fixed payment for the nuclear --


MS. McSHANE:  Yes.


MR. POCH:  -- output.  Do I take it that your answer there is the impact on the combined ROE; that is, for the -- for all of the prescribed assets, not just the nuclear?


MS. McSHANE:  Correct.


MR. POCH:  All right.  My question on that is this is the -- in effect, you have crystallized what the impact on ROE is of this risk not being borne by OPG of 25 percent of this operating -- this particular operating risk.


If it were a 12-1/2 percent fixed charge, would that differential double, and, conversely, if it were a 50 percent fixed charge, is it roughly linear?


MS. McSHANE:  Well, I would say this, that it's a judgment.  So, I mean, I quantified it the best I could.  Is it linear?


MR. POCH:  Let me interrupt to say the mechanism you have outlined of your mechanism for quantification suggests that it is linear.  That approach would suggest a linear number.


Would you adjust it for other factors?  Am I correct, first of all, in my interpretation?


MS. McSHANE:  Sorry, would I adjust it for other factors?


MR. POCH:  Well, maybe I...  The mechanism you have used to determine that number, that differential, due to the existence or non-existence of the fixed charge.


MS. McSHANE:  Yes.  What I did was I looked at the impact of having the fixed payment versus not having the fixed payment based on what the actual production was over the three years of data that we have since the interim --

MR. POCH:  So the number you have given us is straight math from that data set, basically?

MS. McSHANE:  Well, I wouldn't say it was straight math.  It's saying, you know, here's the approximate variation in ROE, from having it versus not having it.

And my judgment is that, that based on that standard deviation, that about half of it can be interpreted as a change in the cost of equity.

So, yes, I guess you could say it was approximately linear.

MR. POCH:  That's good enough.  Thank you.

Now, turning to page 3 of -- and this -- our cross materials.  When I refer to the pages, I will be referring to the page in the lower right-hand corner, which is of the book as opposed to the individual exhibits.

So turning to page 3 of that booklet.  This an interrogatory response where Mr. Chernick sought to extrapolate that, if we wanted to figure out what the 100 percent of the risk associated with the operating risk for the nuclear is, and he has simply taken your 25 basis points, grossed it up, assuming full risk for 100 percent of the operating risk, and then adjusted it by the proportion of capital, roughly 45 percent, that is --

MS. McSHANE:  Yes, I understand what he --

MR. POCH:  Do you see what he has done there?  

MS. McSHANE:  Yes.

MR. POCH:  Is that a reasonable extrapolation?

MS. McSHANE:  Given the judgmental point at which it started, it's fairly reasonable, yes.

MR. POCH:  All right.  Continuing on to page 6 of the materials I put before you, this is -- which is the third page of Pollution Probe Interrogatory No. 2 -- this is where you, in the last paragraph, where you offer a judgement of the cost of capital for the two divisions if set separately.

You have spoken about this at length with Mr. Klippenstein already.  I just want to clarify.  Your judgment here, and indeed your judgment when you were helping him fill out the table at the start of his cross-examination booklet -- 

MS. McSHANE:  Yes?

MR. POCH:  -- I take it that that's -- well, answer me this.  Is it premised on the nuclear division bearing all of the risks?  Or are you assuming the various deferral accounts which OPG has asked for are indeed in place?

You understand there is a deferral account -- 

MS. McSHANE:  I understand exactly what you're asking, and I would -- I guess the short answer is I'm assuming the deferral accounts that they're asking for, and there was actually a technical conference question, number 5, from the Board on that, which sort of goes through -- no.  It's not number 5.

It's number 6, which sort of goes through the various accounts and what the assumptions that were made on them were.

MR. POCH:  Okay.  Thank you, I missed that.  Thank you.

Obviously I take it if they were bearing all of the risks, that is if they didn't have the benefit of the deferral accounts, the differential between the divisions would be higher?

MS. McSHANE:  Yes.

MR. POCH:  All right.  Now, I take it that you -– well, excuse me.  

Let's move on to the question of the merits of setting different cost of capital for the two different divisions.

First of all, I guess it is trite to say that a primary purpose of and benefit of getting the allowed cost of capital right is to fairly compensate the companies on the one hand without overburdening the ratepayers on the other.

MS. McSHANE:  Yes.

MR. POCH:  All right.  But I took it from your comments there are other benefits, and one of those would be, an important one would be encouraging economic efficiency, allocative efficiency?

MS. McSHANE:  Yes.

MR. POCH:  All right.  In page 9 of these materials, in your comments there about stand-alone principle -- this is your evidence in this case -- you distinguish between the required return for the project and the cost of raising capital by the firm.

Am I interpreting it correctly that it is the former that should guide, first of all, should guide the company's decisions to invest?

MS. McSHANE:  Where do I make this distinction?

MR. POCH:  I am reading from the bottom -- I am looking at the bottom of page 9, the very bottom paragraph.  The benefit, the point of a stand-alone is it avoids a misconception that the cost of raising capital to invest in a project is the same as the cost of capital, that is the cost of capital in a project.  The financing decision is the same as the cost of capital required return of the project investment decision.

 MS. McSHANE:  Right, and then you go on and there is sort of an example on the next page of what the difference is between the cost of raising the funds and the use of the funds, and that's the distinction that I am trying to make.

MR. POCH:  All right.  I mean perhaps I have -- let me just be clear then.  You gave this example of the federal government.  It raises funds for all of its activities.  It shouldn't make its particular investment decisions based on the cost for its mix of all activities.  It should look at the risk of the particular project.

MS. McSHANE:  Right, I mean the federal government can go out and raise new 30-year debt at 4-1/2 percent, but if it -- well, let's look at a potential real example and that is, I mean the federal government has been approached to see if they want to make an investment in the Mackenzie Valley Pipeline.  They could go out, raise money at 4-1/2 percent, but presumably, they wouldn't discount any potential investment they would make in the Mackenzie Valley Pipeline at 4 percent.  They would do it on the basis of the risks that are inherent in that project.

MR. POCH:  All right.

Sort of reading between the lines here, but it seems to me that the reasoning you have applied there, applies equally well to the two divisions here, nuclear versus hydraulic, that OPG should be using a different cost of capital in its investment decisions, in its choices.

MS. McSHANE:  I suppose there's some argument for that.  They operate these assets together.  In the context of determining the revenue requirement, the tax losses that have been incurred are being shared among the two types of generation, so I mean I think there are good arguments for simply having one capital structure and one ROE for the entire prescribed assets.

MR. POCH:  Well, clearly that's what the company is applying for, one, and that is what you have addressed.

But I am asking you, is there -- would you agree that for investment analysis purposes, a company should have regard to the risks of the particular project.

MS. McSHANE:  Yes.  I think when a company does analysis, they need to look at the risks of the particular project.  They could do that in part by the discount rate that they use to evaluate the project, and they also would look at the cash flow variability to determine whether or not this is a project that's worth taking on.

MR. POCH:  All right.  Okay.

Now, OPG's indicated that it's their practice to use the discount rate that is allowed for their, for the regulated rate in making their decisions --

MS. McSHANE:  Excuse me.  They do what?  

MR. POCH:  They have indicated that they use -- they will use -- let me get you the exact cite here.


I am reading this from Mr. Chernick's evidence at page 14, just for -- and he quotes from Exhibit L, tab 3, schedule 2 in the answer to part D.  I will quote that, and hopefully he has transcribed it correctly:

"To date OPG has assumed a discount rate of approximately ..."


MR. PENNY:  Hold on a second, Mr. Poch, while we turn that up.


MR. POCH:  Sure.


MS. McSHANE:  Could I have the page reference again for Mr. Chernick's evidence?


MR. POCH:  It's page 14 of his evidence.


MS. McSHANE:  And you're pointing me to lines?


MR. POCH:  To line 14 to 19.


MS. McSHANE:  Where they quote --


MR. POCH:  Where he quotes an interrogatory response from the company.


MS. McSHANE:  I have that.


MR. POCH:  You have that?


MS. McSHANE:  Yes.


MR. POCH:  It says -- just half way through that, it says:

"In future assessments OPG will consider the approved regulated ROE/capital structure along with OPG's cost of long-term borrowings and make a determination of the appropriate discount rate to be applied."


Actually, I should read from the beginning.  It refers to assessment of new investments.


So I take it that -- we took it from that that it is the company's practice to have regard to the -- whatever this Board allows it in making its financial analyses.  I'm not suggesting that is the only thing they have to take account of.


But that being the case, would you agree there might be benefit in the Board differentiating between the two classes of activity?


MS. McSHANE:  Sorry, I'm not sure I see the connection.  You're saying because of the fact that OPG says:

"In future assessments it will consider the approved along with the cost of long-term debt and make a determination of the appropriate discount rate to be applied."


So as a result of that, the Board should consider having separate capital structures?


MR. POCH:  If OPG is taking guidance from the cost of capital that this Board imposes in determining whether to make investments --


MS. McSHANE:  Which utilities regularly do.


MR. POCH:  Sure.  Would you agree that the Board distinguishing between cost of capital for nuclear versus hydraulic (sic) would, in turn, encourage OPG to do the same and that would be an economically efficient -- a step in the direction of economic efficiency, if that chain holds?


MS. McSHANE:  Well, I would think, irrespective of what the Board decides, that OPG would assess future potential investments using what it determines to be the appropriate discount rate for the particular projects and its assessments of the riskiness in the cash flows of those projects in the manner in which it has traditionally done.


So I am not really sure that whether the Board -- OPG may well be guided by what the Board decides, but, ultimately, the company is going to make its own decisions about how to best assess the riskiness of projects and the riskiness of the cash flows.


MR. POCH:  Well, I take it you would agree that boards, regulatory boards, routinely set allowed costs of capital for the regulated aspects of the company, despite the fact that the company may raise capital, especially equity, for its combined regulated and non-regulated operations?  That's routine?


MS. McSHANE:  It's fairly common, yes, because there aren't that many pure-play regulated companies.  Most of the companies that raise equity have more than one type of operation.


MR. POCH:  Right.  If we turn to page 11 of my cross materials, I have reproduced there part of your evidence in the recent Hydro One transmission case.


The docket reference is on the front of my booklet.  It is EB-2006-0501.  I am not sure if that should be EB or RP, and I note that there was some confusion on the web as to whether it is a 2005 or 2006 docket, but I take it it is -- in the Board's records it is a 2006 docket.


MS. McSHANE:  Sorry, what page are we looking at here?


MR. POCH:  Page 11 of my booklet, which is page 7 of your evidence in that case.


MS. McSHANE:  Thank you.


MR. POCH:  Again, you are talking about the stand-alone principle there, and in that case you were suggesting, and I will read you the passage:

"The stand-alone principle encompasses the notion that the cost of capital incurred by the ratepayer should have equivalent to that which would be faced by each division raising capital in the public markets on the strength of its own business and financial parameters."


So you close that paragraph saying:  

"Respect for the stand-alone principle is intended to promote efficient allocation of capital resources among the various activities of the firm."


So I take it from that that even where we have an entity that has two regulated divisions regulated by the same board, you saw a benefit, in terms of economic efficiency, giving a signal to the company as to how they should allocate their assets, in having the cost of capital for each division reflect the risks and cash flows, and so on, of each division independently?


MS. McSHANE:  In this case, that was true, yes.


MR. POCH:  Just to finish that thought, on page 13 of my booklet, I have reproduced part of the Board's decision in that case, and the bottom of the second paragraph and in the middle paragraph of that page, we see the Board's conclusion.  And I will read a relevant snippet:

"On balance, the Board concludes that the evidence before us does not provide a basis upon which we can make a finding that there is any meaningful difference in risk as between distribution and transmission."


They said it was up to the company to demonstrate that, and they didn't.


I read that as -- that that was the -- that they didn't reject your logic of the benefits of distinct costs of capital, at least as the primary basis for their decision.  What they rejected was simply that on the facts, the case -- the burden hadn't been met by the company?


MS. McSHANE:  I think that's fair.


MR. POCH:  Now, I take it you did attempt to set cost of capital for the two divisions.  Before we asked you to and before Pollution Probe asked you to, you made -- you yourself attempted to do that and you just ran into some difficulty with available comparable data?


MS. McSHANE:  Yes, when I attempted to estimate the risk differences, the available data simply are not robust enough to make a finding as to what the risk differentials are.


MR. POCH:  Right.  That was a particular problem, I take it?  You couldn't find sort of stand-alone hydraulic (sic) companies, was the difficulty -- the particular difficulty you ran into?


MS. McSHANE:  Well, no.  There are two difficulties.  One is that there are no stand-alone hydroelectric generation or stand-alone companies for which hydroelectric generation makes up enough of the total business that you can extract the hydroelectric part of the cost of capital.


Similarly, on the nuclear side, although it's possible to look at a sample of companies with significant exposure to nuclear generation, because even in that case, there's such a mixture.  It's -- you could take data ending one year and you can find that it supports empirically nuclear generation being higher risk.  Similar data from a different year may show that what you found in the prior year is not significantly -- or statistically significant.

MR. POCH:  Right.  So the estimates you have offered for the differential -- I think at one point in your evidence you speak of intuitively reasonable 225 basis points, then you have given the numbers that I have already referred to to Mr. Klippenstein.

I take it those numbers were kind of -- you're working backwards.  You are starting at your -- the number you have, you have done an analysis, a full and comparable analysis to support for the combined entity, and then you've sought to disaggregate, based on the differential risks of -- 

MS. McSHANE:  Right.

MR. POCH:  -- the differential risks you perceive.

MS. McSHANE:  I explained this a bit to Mr. Rupert yesterday, probably more than he wanted to know, but, yes, I did it two ways.

MR. POCH:  You don't need to repeat yourself.

MS. McSHANE:  I won't.  But you're right, I started with nuclear on the one hand, and then hydroelectric on the other.

MR. POCH:  Just so I can understand it, to the simple -- to my simple layman's mind, I sort of assumed that a portfolio risk is generally less than individual investments' risks, the sum of the weighted average of the individual risks in the portfolio.

And that, would it be fair to say, then, that the numbers you come out with for the two divisions, through that mechanism, might, if anything, understate what the appropriate numbers would be, if they were truly done on a stand-alone basis?  Because you have derived them from the portfolio number?

MS. McSHANE:  Well, because I derived them from the portfolio method, yes, you're right.  The portfolio effect is already reflected in doing the weighted average.

MR. POCH:  All right.  So presumably, if you did it stand-alone, the differential between the two might be even greater?

MS. McSHANE:  It's possible.

MR. POCH:  All right.

MS. McSHANE:  It could be less, just because of the way that it was done.

MR. POCH:  Now, if the Board sees merit in setting allowed return for the two divisions separately, would it be mechanically difficult to administer for the company?

MS. McSHANE:  Well, I think to some extent this is something you would need to talk to OPG about.  But I do think that there is a difficulty in the fact that the way the revenue requirement is being proposed and the tax losses are being shared across the prescribed assets, that there could be some difficulty in that regard.

MR. POCH:  All right.  I take it there would have to be some allocation of the common administrative costs to between the two divisions, or else give them the blended rate.  

MS. McSHANE:  I haven't studied the cost allocation method, but presumably that would be the case.

MR. POCH:  Okay.  Turning to page 14 of our exhibits there, this is an interrogatory from OPG to us to GEC et al, and Mr. Chernick.

This was suggesting that OPG could use a Monte Carlo approach to simulate risks, so that it would have due regard to those risks when it makes its internal investment decisions, rather than taking its cue from the individual cost of capital.

Are you familiar with the concept of a Monte Carlo simulation?

MS. McSHANE:  Yes.

MR. POCH:  All right.  Is my understanding correct that it is really just a method to get a randomized probablistic assessment of the likelihood of simultaneously, simultaneous events, different risks happening simultaneously; you get a curve for how those events might stack up?


MS. McSHANE:  Right.  So you sort of get a range of net present values.

MR. POCH:  Right.  But that's just randomizing a range of events and the impact of those events, that is just to take account of whether these events are going to happen all at once or at different times.

It doesn't, in itself, generate an assessment of what the individual risks that the company faces are, or the probability of any one of those occurring.  Those are inputs to a Monte Carlo simulation.

MS. McSHANE:  Based on, well, again, I mean I think this is something that -- probably need to discuss specifically with OPG, in terms of understanding exactly how they do it.  But my understanding of how Monte Carlo simulations can be done is that you can take into account the various probabilities and impacts of the possible outcomes.

MR. POCH:  Each of those variabilities and impacts, for each of the possible events, though, are an input into that -- into any Monte Carlo analysis.  The model doesn't create these -- the data for you.  It just --

MS. McSHANE:  No.  No.  You have to make an assessment of what the risks are, just like if you did a discount rate, you would have to make some assumptions about the risk.  They're not an input, either.

MR. POCH:  So the fact that they're going to use a Monte -- they might use a Monte Carlo assessment doesn't give us any assurance that they're going to use a reasonable data set for what the risks of all of the different might be, or that their universe of events that they have to worry about is adequate.

Those would be matters for their judgment.

MS. McSHANE:  I'm not sure where you're going with this.

MR. POCH:  Let me leave that.  I think we're venturing into argument there.  Let me leave it at that.

Now, turning back to this problem that you have encountered finding adequate data to do cost of capital for the two divisions separately and independently, if the Board was persuaded that there was wisdom in setting two costs of capital, would you agree that it is feasible to take your blended cost or some other blended cost that the Board is persuaded is more appropriate, and then do what you've done, work backwards with some estimate of what the differential risks are, that that's not -- there's no reason that that's -- would be inappropriate?

MS. McSHANE:  Well, again, I mean I am concerned that the level of judgment in making the two is such that I am not confident in the results as I am in the overall cost.

In addition, we have the other tax issue.  So I am not sure that I would recommend to the Board, at this point, that they take that approach.

MR. POCH:  Right.  I take your point about the tax issue.  They have to be careful about the accounting implications and tax implications, but I take that point.

But if the combination of the two numbers is the blended cost that you or some other expert has advised, or some combination of those that the Board chooses, the mere disaggregation, is there any problem with that, that --

MS. McSHANE:  Just the idea of disaggregation?

MR. POCH:  Yes.

MS. McSHANE:  There is no implicit problem with the idea of disaggregation.  I don't think we have any, however, numbers in front of us that are sufficiently robust to make that determination.

MR. POCH:  All right.  Thank you.  Those are my questions.  Thank you, Mr. Chairman.


MR. KAISER:  Thank you.

MR. RUPERT:  Ms. McShane, can I just follow up on that question?  When you answered Mr. Poch earlier about the difficulties in looking individually at hydro and at nuclear -- 

MS. McSHANE:  Right.


MR. RUPERT:  I think you mentioned data issues, comparators and so on.  It struck me that the reasons you gave there could also be used to cast out on your entire combined analysis.  I'm not sure I understand.  If you can do an analysis for something that owns nuclear plants and base load hydro plants, what is it about comparators that suddenly pops up when you decide to do them individually?  I don't understand.


MS. McSHANE:  Well, when we start with the comparators, there are no comparators that are simply hydroelectric.


MR. RUPERT:  Equally, there is no comparator that is combined hydroelectric and base load.  


MS. McSHANE:  Right.


MR. RUPERT:  The problem, it seemed to me, was there in both cases.


MS. McSHANE:  There is some issue, I would grant you, with respect to the starting point, where you have a comparator which is not a total generation company, but has generation and -- different types of generation and has wires operations, as well.


So, yes, there is a certain degree of -- uncertainty is not the right word, but it's not precise at that point, because there is no -- as you rightly indicate, there is no precise comparator.


But as you break it down further, I suggest that that area of uncertainty becomes larger when you are trying to just hone in on one type of generation versus the other.


MR. RUPERT:  I will leave it there.  Thanks.


MR. KAISER:  Mr. Thompson.

Cross-examination by Mr. Thompson:


MR. THOMPSON:  Thank you, Mr. Chairman.


We did provide at the beginning, I think it was yesterday, two documents that I would like to have marked.  One is the CME documents brief.  It's a document 13 pages in length.  And the second is brief of documents, tabbed, entitled "Brief Re Rate Base, Capital Structure and Return Implications of Deferred Liabilities" that has a date on the front of June 2, 2008.  I hope the panel has that material.


MR. KAISER:  Yes, we have that.


MR. BATTISTA:  They will be marked as -- the CME brief, document brief, will be marked as K11.5.

EXHIBIT NO. K11.5:  CME DOCUMENT BRIEF.


MR. BATTISTA:  The brief regarding rate base, capital structure, return implications and deferred liabilities will be marked K11.6.

EXHIBIT NO. K11.6:  BRIEF ENTITLED "BRIEF RE RATE BASE, CAPITAL STRUCTURE AND RETURN IMPLICATIONS OF DEFERRED LIABILITIES" THAT HAS A DATE ON THE FRONT OF JUNE 2, 2008


MR. THOMPSON:  Thank you very much.


Now, Ms. McShane, I would like to start first, if I might, with the approach that you have taken to your task.  And in that connection, I would ask you to turn up page 19 of your prefiled evidence.  This is Exhibit C-2, tab 1, schedule 1.


MS. McSHANE:  Page 19?


MR. THOMPSON:  Page 19, yes.


MS. McSHANE:  Yes, I have that.


MR. THOMPSON:  This is in the section of your material entitled "Benchmark Return on Equity", and starting at the bottom of the page, 18, over the top of 19, you describe that two approaches can be used, and you then outline the two approaches?


MS. McSHANE:  Yes.


MR. THOMPSON:  The first one, as you note, entails setting an equity return or providing a recommendation with respect to an equity return, which is applicable to a benchmark or average risk Canadian utility.  And in that approach, you then move on to look at deemed capital structure in the context of a benchmark adjusted for the specifics of the utility under consideration.  Is that correct?


MS. McSHANE:  Yes.


MR. THOMPSON:  Okay.  Then the second approach, both those items are moving targets, as you describe in your testimony?


MS. McSHANE:  Yes.


MR. THOMPSON:  You have used the first approach in this presentation; am I correct?


MS. McSHANE:  Yes.


MR. THOMPSON:  All right.  And so the benchmark equity return that you are recommending is a return that applies regardless of the equity ratio the Board ultimately finds for OPG?


MS. McSHANE:  That's right.  The idea was to establish an ROE that would be applicable to OPG if it had sufficient equity underpinning it to equate it to an average risk utility.


MR. THOMPSON:  So the 10.5 percent equity return you recommend is the return on shareholder equity which OPG should be given the opportunity to earn on its regulated assets.  Am I correct?


MS. McSHANE:  I would put it a little bit differently, and maybe it doesn't make any difference, but I would say it's the ROE that OPG should be allowed the opportunity to earn on the equity deemed to be financing its prescribed assets.


MR. THOMPSON:  Okay.  Would you agree the Board should do nothing with respect to deemed capital structure, which implicitly provides OPG with an opportunity to earn more than 10.5 percent on the equity supporting the regulated assets?


MS. McSHANE:  Sorry, I didn't follow that question.


MR. THOMPSON:  Do you agree that the Board should do nothing in determining deemed capital structure, which implicitly provides OPG with the opportunity to earn more and materially more than 10.5 percent on equity?


MS. McSHANE:  I have no idea what you're getting at, sorry.


MR. THOMPSON:  All right.  Well, we will come back to it.


MR. RUPERT:  Mr. Thompson, can I ask that question?


If the deemed capital structure results in a certain return based on 10-1/2 percent, but the actual capital structure is much different -- say a company is running with considerably lower equity in the business.  That is how it is actually financing the business.  I think the question was:  Does it bother you that the actual return reported, say, in the financial statements of the company, based on its actual capital structure, could be well north of 10-1/2 percent, because the deemed capital structure included much more equity?


MS. McSHANE:  Oh, I see.  Sorry.  Well, thanks for clarifying that.


MR. RUPERT:  Sorry, Mr. Thompson, did I get that more or less --


MR. THOMPSON:  More or less, yes.


MS. McSHANE:  Yes.  I think that a regulator has to be concerned about that.  Indeed, regulators have looked at that issue, and utilities have, as a general proposition, tended to keep -- well, utilities that are pure utilities have tended to keep their actual capital structures close to where the Board has allowed them to be, because they have no incentive to have higher equity ratios.  And if they maintained lower equity ratios than what the Board allows, then the implication, of course, is, if you can operate that way, you obviously don't need 35 percent equity, or whatever the equity ratio is that we have allowed.


MR. THOMPSON:  With respect to the benchmark ROE for a Canadian utility of average risk -- just stopping there, is that what your 10.5 is?


MS. McSHANE:  That's what it is intended to represent, yes.


MR. THOMPSON:  Now, my question at a conceptual level with respect to benchmark ROE is this:  Conceptually, when we apply these tests that you have applied - the equity risk premium, DCF - to earnings, are we attempting to quantify the current and prospective investor expectations with respect to equity return?  Is that what the exercise is all about?


MS. McSHANE:  Well, that's certainly part of it, and it's also trying to incorporate what comparable entities are able to earn, as well.


MR. THOMPSON:  All right.  So is investor expectations a big part of the objective here?  We're trying to indirectly measure investor expectations?


MS. McSHANE:  We are trying to measure investor expectations.  Investor expectations get measured -- equity investor expectations get measured most directly through a discounted cash flow approach.

MR. THOMPSON:  All right.

In terms of the statistical analyses that are contained in section 3 of your testimony, the benchmark return on equity, am I correct that the results in section 3 of your testimony are stand-alone?

By that I mean I didn't find any reference in section 3 of your testimony to the material you have in section 5, about global markets and all of that stuff.

Am I correct that section 3 is the basis for your recommendation?  

MS. McSHANE:  Those are the tests.  I don't know that I would agree with you that it's stand-alone, in the sense that when you develop a return on equity recommendation by reference to quantitative tests, there needs to be some perspective on the reasonableness of those results, and the sections -- other than the section that is specific to OPG, but, for example, as you point out, section 5 -- I mean I think those pieces work in concert.

MR. THOMPSON:  Well, did the discussion in section 5 of your testimony influence, in any way, the recommendations that are contained in section 3?  Or let me put it this way.  If we took section 5 out of your prefiled material, would your recommendation be any different?

MS. McSHANE:  No.  My recommendation wouldn't be any different, but I think section 5 is -- well, it does two things.  It provides a perspective around the reasonableness of the results, and it also provides, from my own perspective, a sense of confirmation of the results, that they're reasonable.

MR. THOMPSON:  Well, are you or are you not saying returns in Ontario should change because returns in the US are higher?

MS. McSHANE:  Well, I think that certainly the indicators are such that, yes, I would recommend that we look beyond the results of the formula that's currently -- or the formula ROE that is currently in place.

MR. THOMPSON:  So if the Board rejected that proposition, suppose the Board says there's justification for returns in Ontario being different than returns in the US, does your recommendation, that 10.5, reduce or stay the same?

MS. McSHANE:  My recommendation doesn't change.

MR. THOMPSON:  Okay, so whatever is happening in the US has no impact on your recommendation?

MS. McSHANE:  They're independent, but confirming.

MR. THOMPSON:  All right.  So that if we took it out of your filing, it wouldn't make any difference to your recommendation in this case?

MS. McSHANE:  No.  It wouldn't change my recommendation.

MR. THOMPSON:  Perhaps there, Mr. Chair?  I can come back to it after lunch.

MR. KAISER:  Yes, thank you.  Come back in an hour.  

--- Luncheon recess taken at 12:30 p.m.

--- Upon resuming at 1:38 p.m.


MR. KAISER:  Please be seated.


Mr. Battista is heading off to Europe at five o'clock.  Before he leaves, he has instructed me to tell you what the argument schedule is.  It is that seven days after we finish this hearing, OPG will file its argument.  Two weeks after that, the Board Staff and intervenors will file theirs, and two weeks after that, OPG will reply, if that is of any assistance.


Mr. Thompson.


MR. THOMPSON:  Thanks, Mr. Chairman.  Ms. McShane, just a couple of points, if I might, with respect to your application of the equity risk premium test.  Others have questioned you on this before.


My understanding is that your current estimate of the long Canada is 4.2 percent; is that correct?


MS. McSHANE:  What I estimated for the test period was 4.5 percent.


MR. THOMPSON:  But on the update, is it now 4.2?


MS. McSHANE:  No, it is 4.5.


MR. THOMPSON:  Sorry, I thought that was a combination of a long Canada and a ten year.  Did I misunderstand?


MS. McSHANE:  You just asked me what my forecast of the risk-free rate was for purposes of the risk premium, and it is 4. --


MR. THOMPSON:  Yes.  I thought you gave an estimate in-chief of 30-year money at 4.2 percent and of 10-year money at 4.7 percent, which led you to 4.5 percent.  Did I misunderstand that?


MS. McSHANE:  Yes, I think you did.  What I estimated was the 30-year Canada yield for the 2008 part of the test period at 4.2, and the 30-year Canada yield for 2009 at 4.7, which gave me an average of 4.5 percent.


MR. THOMPSON:  Okay.  So that's the long Canada.  So is that the risk-free base?


MS. McSHANE:  Well, for purposes of the risk premium, when you define the pieces, it's the risk-free rate plus the risk premium.  And the typical approach to applying the risk premium test is to use the 30-year Canada as the proxy for the risk-free rate.  So the risk-free rate and the 30-year Canada are the same thing, for this purpose, and my estimate is 4-1/2 percent.


MR. THOMPSON:  All right.  In doing that did, you apply the rules for forecasting this item that are specified in ROE guidelines that this Board has issued?  I'm thinking of the guidelines that we use on the gas side, but there may well be others.


My question is:  Is that estimate derived in accordance with guidelines, or is that your approach?


MS. McSHANE:  Well, the answer is, no, it is not precisely the same thing as in the guidelines, because the guidelines call for setting the risk-free rate just prior to a 12-month test period with the most recent consensus forecast.


So, for example, if -- let's say, on the gas side, that you are going to determine, under the formula, what the ROE is for, say, Enbridge, for rates that would start January 1st and go through December 31st.  So you would use a consensus forecast as of November of the prior year.  


So you're fairly close to the test period, and you have two spot forecasts within the consensus forecast, one three months forward, one 12 months forward.  So you have pretty much bracketed the period for which rates are going to be set.


So, in this case, what I did was I used the consensus forecast to get me to a forecast yield basically until April of next year, but I still needed to derive the 30-year Canada from April to December of 2009.


So I sort of -- I knew, based on the forecast I had seen, that there was an expectation that interest rates were going to rise.  So I had reference to other forecasts of US rates which were available for that whole period.  That's a very long explanation, but I used the consensus forecast to the extent I could.


MR. THOMPSON:  Okay.  I think what you're saying is that the guidelines technically don't work, because they are only for a one-year test period?


MS. McSHANE:  They technically don't work because, yes, they don't cover the full test period.


MR. THOMPSON:  All right.  Well, let's leave it there.


You and everybody else adds to the risk-free rate an equity risk premium, and that's derived, as I understand it, by determining the equity risk premium for the market as a whole, and then adjusting it to represent an equity risk premium for an average Canadian -- sorry, Canadian utility of average risk.


Is that the theory?


MS. McSHANE:  That's one possible test.


MR. THOMPSON:  All right.


MS. McSHANE:  That's one of three.  But that's one I used, one of three.


MR. THOMPSON:  Yes.  I appreciate you used three 

tests --


MS. McSHANE:  No, no, sorry.  I used three risk premium tests.  The one that you are describing is one of three risk premium tests.


MR. THOMPSON:  Let me just focus on this one, okay.


MS. McSHANE:  Okay.


MR. THOMPSON:  My understanding is you say the risk premium for the market as a whole is 650 basis points, and, my understanding, that other experts say it is 500 basis points.


MS. McSHANE:  Right.


MR. THOMPSON:  Then you say the beta adjustment to move that market premium to the premium for a Canadian utility at average risk is between 0.65 and 0.7?


MS. McSHANE:  I say the relative risk adjustment is that, yes.


MR. THOMPSON:  Others say it is 0.5?


MS. McSHANE:  Correct.


MR. THOMPSON:  Other experts say it is 0.5.  Then if I multiply 0.65 or 0.7 times 6.50, I don't get the range that you propose.  Your range is a little bit higher, because you adjust the multiple of those two items.  Do I understand that correctly?


MS. McSHANE:  Sorry, because I have done what?


MR. THOMPSON:  You do another adjustment?


MS. McSHANE:  I do?


MR. THOMPSON:  Well, 0.65 times 0.7 doesn't produce the 4.25 to 4.75 spread.  It produces a number lower.


MS. McSHANE:  Correct, because it's not just the result of that risk premium test.  It is the result of three risk premium tests, which are in table 4 on page 42.


MR. THOMPSON:  Okay.


MS. McSHANE:  So it is not an adjustment.


MR. THOMPSON:  It is including more?


MS. McSHANE:  Including more risk premium approaches.


MR. THOMPSON:  Okay.  I am glad I clarified that.  Then you add a flexibility adjustment of 50 basis points?


MS. McSHANE:  Yes.


MR. THOMPSON:  As I understand it, others are saying that's not warranted in this case, because OPG doesn't finance in the markets.  It gets it from its affiliate lender, the Province of Ontario Electricity Financial Corporation?


MS. McSHANE:  I think we should back up there and recognize that Dr. Booth puts 50 basis points in, and so did Drs. Kryzanowski and Roberts, so I don't think that your conclusion is quite correct.


MR. THOMPSON:  Okay.  Then I misunderstood that.


So just stopping, then, at risk premium, do I understand, then, that if we take the base, the 4.25 percent -- and my understanding of your midpoint of the risk premium is 4.5.  Have I got that right?  The market adjustment midpoint --


MS. McSHANE:  We're talking now just about the one risk premium test?


MR. THOMPSON:  I am talking about the results of all of them.  I thought the results of all were 4.25 to 4.75.  Did I misunderstand?

MS. McSHANE:  Well, before I tell you, are you talking about what was in my initial testimony?  Or what I -- 

MR. THOMPSON:  Where are we today?

MS. McSHANE:  Where are we today?

MR. THOMPSON:  You updated your stuff.  This is what I thought you said.

MS. McSHANE:  That's fine.  No, I just wanted to make sure we were on the same page.

So the result was a range of 4-1/2 to 5-1/4 with a midpoint of 4.875.

MR. THOMPSON:  Okay.  So I've got that wrong.  So your 4.875, and then the 50 basis points brings us, then, to 
9 -- what is it, 875?

MS. McSHANE:  So before the addition of the 50 basis points, it's 9 to 9.75.  Add the 50 basis points, it is 
9-1/2 to 10-1/4.


MR. THOMPSON:  Which the mid point is 9.875.  Have I got that right?  No.  It is 10.

MS. McSHANE:  I think it is 9.875.

MR. THOMPSON:  So you're 9.875 on risk premium test, midpoint?

MS. McSHANE:  Right.

MR. THOMPSON:  Today?

MS. McSHANE:  Today.

MR. THOMPSON:  Updated.  And assuming others agree that the risk-free rate is 4.5 percent, then the result, I think, would be 4.5 for the base, 2.5 for the risk premium, and you say they all agreed with 50.  So that would be 7.5?

MS. McSHANE:  Well, if you assume that everybody agreed on the risk-free rate -- which I don't believe everybody does –-

MR. THOMPSON:  Yes, that was my assumption.  That would be the spread approximately.  You're at 9.875 and the others would be, assuming that 4.5 is right, at about 7.5. 

MS. McSHANE:  I think that's -- well, yes, because Dr. Booth is at 7.75 and he's at 4.75, and Doctors Kryzanowski and Roberts are essentially using 4-1/4, and they're at 4.25 percent.

MR. THOMPSON:  Now, if you could just turn up, then, in your evidence table 30.  I think Mr. Warren might have referred to this, this morning.

MR. RUPERT:  What page is this, Mr. Thompson?

MR. THOMPSON:  If I am reading this right, it is 258, is it?  Yes, 258 of 261: "Equity return awards and capital structures adopted by regulatory boards for aiding utilities."

These, on this page, Ms. McShane, am I correct that these are the most recent awards?

MS. McSHANE:  Actually, no.  They're not.

MR. THOMPSON:  What's missing?

MS. McSHANE:  Well, they're all -- since this was filed, November, I think most of these returns that are formula returns are returns for '07, instead of returns for '08.

MR. THOMPSON:  Do you have an update of this schedule?

MS. McSHANE:  I can get one.  I don't know that I physically have one with me.  But I can file one.

MR. THOMPSON:  All right.  Well, could you undertake to do that, please?

MS. McSHANE:  Yes.  

MR. PENNY:  Yes.  We can undertake to file Ms. McShane's update to schedule 30 containing the 2008 returns.

MR. THOMPSON:  At a high level, the 2008 returns, equity returns formula-based higher or lower?

MS. McSHANE:  I'm pretty sure they're higher.  I know, for example, if you look at the Alberta numbers, the AltaLink, ATCO Electrical, the first four or five companies, they're 8.75.  I'm pretty sure the forecast 30-year bond yield for '08 was 4.55.

MR. THOMPSON:  All right.  Well, in any event your schedule will show that.

MS. McSHANE:  Yes.

MR. THOMPSON:  And you would have to agree with me there is very few, if any, returns here that are at the 10.5.

MS. McSHANE:  That's correct.

MR. THOMPSON:  Now, in previous cases when you have testified –- well, let me just back up.

You have been a witness in a number of these cases --

MS. McSHANE:  Yes.

MR. THOMPSON:  -- that are shown on this page and in other pages?

MS. McSHANE:  Yes.

MR. THOMPSON:  All right.  In previous cases in which I have been involved where you have appeared as a witness, you have filed what I would call your track record document, which would add to what appears on page -– sorry, in schedule 30, in the cases where you testified, what you had recommended with respect to each of the components of capital structure and equity return.

Am I right?

MS. McSHANE:  Sorry, what was the question?

MR. THOMPSON:  I'm looking for your track record exhibit that has been traditionally filed in every case in which I have been involved.

MS. McSHANE:  I don't think we were asked for that.

MR. THOMPSON:  Well, I am asking for it now.  Can you file it?

MS. McSHANE:  You mean as an undertaking?

MR. THOMPSON:  Yes.

MR. KAISER:  Can you tell us which of the cases you testified in?

MS. McSHANE:  On this particular table?

MR. KAISER:  Yes.  I think that is what he is referring to.

MR. THOMPSON:  Yes.

MS. McSHANE:  Oh.  Well, that's a good question, because some of these results here are the results of formulas, so although I may have testified in the initial proceeding, I mean I didn't testify in a proceeding that specifically produced this 8.51 for Alberta, for example.

So the first one, two, three, four companies, AltaLink, ATCO, EPCOR, FortisAlberta, all of those were covered by the generic return approach.

MR. KAISER:  Yes.  They all have the same number.

MS. McSHANE:  Yes.  So I testified in that case, but not for all of the companies.

The FortisBC is covered by the same generic formula as Terasen Gas, which is down under the gas distributors.  

I testified in the generic -- sorry, so was Pacific Northern Gas.  I testified in the generic case in BC in 2006.  ATCO Gas, too, is part of the Alberta generic return.

I testified for Hydro One.  Maritime Electric does its own thing.  I testified for Newfoundland Power.  I don't think I testified in the last Nova Scotia Power case.  I think they take turns with people.

I didn't testify in Gaz Métro.  For purposes of ROE, I testified in Enbridge, Union Gas.

As far as the gas pipelines are concerned, I testified in RH-294, but I didn't testify in the case in 2001 that reviewed the formula.

MR. THOMPSON:  Well, do you have -- my understanding is you keep a kind of a scorecard in the cases in which you testified.

MS. McSHANE:  I do.

MR. THOMPSON:  What you recommended and what the Board eventually approved --

MS. McSHANE:  I do.

MR. THOMPSON:  -- it's really I just wanted that filed in this proceeding, so we would have the benefit of it.

You have, on the next page, schedule 30 -- I'm sorry, I guess it is page 2 of this schedule, you have got all of these companies going back to 1990.  Right?

MS. McSHANE:  Yes.

MR. THOMPSON:  Okay.  So what I am asking you by way of undertaking to file is the update of your track record exhibit.  

Could that be done?

MS. McSHANE:  Yes.

MR. THOMPSON:  Can we have a number for that, please?

MR. BATTISTA:  We should have an undertaking marked for the first undertaking.  That would be J11.1.

That would be to update Exhibit C2, tab 1, schedule 1, page 258 to 261, schedule 30.
UNDERTAKING NO. J11.1:  To update Exhibit C2, tab 1, schedule 1, page 258 to 261, schedule 30.


The second undertaking is J11.2, and that is to file Ms. McShane's track record or scorecard.
UNDERTAKING NO. J11.2:  MS. McSHANE'S SCORECARD.


MR. THOMPSON:  Thanks.  Now, let's move from benchmark equity return, if we might, to the second step of your process, which is the deemed capital structure exercise.


This is where you take account of differences in risk between OPG and the benchmark Canadian utility of average risk; correct?


MS. McSHANE:  Yes.


MR. THOMPSON:  All right.  In terms of the deemed capital structure, there is the equity ratio piece of it, and then there are the other pieces.


Let's just start with the equity ratio piece.  Now, is there anywhere in your evidence that you tell us what the deemed equity ratio is for a Canadian utility of average risk, in your opinion?


MS. McSHANE:  Well, there isn't one, because the whole approach is to establish the equity ratio for each individual utility that -- equates it to an average risk company.


So an electric transmission, for example, here in this province would be 40.


So, you're right, there is no place that says, I've taken all of these equity ratios, added them together to see what the average is, but I would say that the average risk on capital structure across companies would be in the range of 40 to 45 percent.


MR. THOMPSON:  Okay, that's fine.  That's helpful.  I wasn't really asking for an average.  What I was asking for was your opinion on the equity ratio for a Canadian utility of average risk.


You say OPG is significantly more risky and, therefore, you come up with a higher number, but what's the base line?  Is it 40 to 45?


MS. McSHANE:  I would say that, yes, that would be sort of the mid range, and so you would have the low end of the range, being relatively low-risk electric transmission companies, low-risk gas pipelines, and OPG is a generation company on the upper end of the range.


So the midpoint average risk company would be 40 to 45.


MR. THOMPSON:  Okay.  If we were dealing with a low -- lower-than-average-risk Canadian utility, how far down could we go?


MS. McSHANE:  And still have the same equity return apply?  Probably no lower than 35.


MR. THOMPSON:  All right.  But on the upper end, we seem to be able to go way up.  You have taken us up to 57-1/2.  What's the upper end?


For above-average -- Canadian utilities of above-average risk, what's the upper limit?


MS. McSHANE:  I would think that for purposes of equity ratio, as I discussed in my response to the Pollution Probe IRs on the differential costs of capital, I wouldn't probably recommend an equity ratio over 60 for a regulated company.


MR. THOMPSON:  Sorry, what was the number you gave?


MS. McSHANE:  Sixty.


MR. THOMPSON:  Six-zero, okay.  Now, in terms of -- that's what you say.  Now, in terms of what the regulators say, again, if we could just go back to schedule 30 of your evidence, and we see the equity ratios determined by the regulators in column 6, there's no number in there greater than 45.  Would you agree?


MS. McSHANE:  Sorry, we're on schedule 30 again?


MR. THOMPSON:  Yes.


MS. McSHANE:  No, there is no number there greater than 45.


MR. THOMPSON:  Right.  Are there any utilities in this list that you would regard to be higher-than-average-risk Canadian utilities?


MS. McSHANE:  Yes, there are.


MR. THOMPSON:  Could you just list them, please?


MS. McSHANE:  Fortis BC, Nova Scotia Power, Maritime Electric, Gaz Métro, Pacific Northern Gas.


MR. THOMPSON:  And could you identify the ones you regard to be lower -- to be of lower than average risk?


MS. McSHANE:  Oh, let's see.  I would say Hydro One Transmission, AltaLink, ATCO Electric Transmission, EPCOR Transmission, Terasen Gas.  The gas pipelines, but I haven't looked at those individually, but I would say as a group, less than average risk.


MR. THOMPSON:  All right.


MS. McSHANE:  That doesn't leave very many, does it?


MR. THOMPSON:  That's fine.  Thanks.


Now, the current equity ratio for OPG is 45 percent.  Are you aware of that?


MS. McSHANE:  Under the interim rates, yes.


MR. THOMPSON:  Yes.  Are you aware how that equity ratio came to be?


MS. McSHANE:  Generally.


MR. THOMPSON:  What's your understanding?


MS. McSHANE:  That it was a number that was recommended by CIBC for purposes of interim rates.


MR. THOMPSON:  And the province accepted it?


MS. McSHANE:  That's my understanding.


MR. THOMPSON:  So now what does that tell us about investor expectations?  You have an expert advisor recommend 45 percent, and the owner, which has the power to in effect regulate itself, accepts it.  Does that not suggest that 45 percent is compatible with investor expectations?


MS. McSHANE:  Well, my understanding was that there was no in-depth study done to determine what the capital structure and ROE should be.  So I don't think it really has anything to do with investor expectations.


MR. THOMPSON:  In any event, you gave it no weight in your deliberations?


MS. McSHANE:  Sorry?


MR. THOMPSON:  You gave the fact that CIBC recommended it and the province accepted it no weight in coming up with your 57.5?  It didn't factor into your considerations?


MS. McSHANE:  Not directly, but I was aware of it.


MR. THOMPSON:  Yes.  Aware of it?  You didn't consider it in the context of investor expectations?


MS. McSHANE:  No.  I considered it in the context of whether it was appropriate in respect of comparable companies.


MR. THOMPSON:  Okay.


Now, are you aware of anything from the province that says it needs 57.5 percent equity ratio?


MS. McSHANE:  No.


MR. THOMPSON:  Now, in terms of risks, am I correct that the risks OPG faces have not materially increased since the restructuring took place?

MS. McSHANE:  Since -- when you say the restructuring, do you mean 1999?

MR. THOMPSON:  No.  2005.

MS. McSHANE:  Oh, you mean since the --

MR. THOMPSON:  Sorry, well, since 2005.  Forget the restructuring.  Have risks materially changed?

MS. McSHANE:  In the context of the analysis that I would be doing?  Not materially, no.

MR. THOMPSON:  All right.

So let's turn, then, to your analysis of OPG's risk profile, and you have been asked a lot of questions about this, and your conclusion, I think, somewhere in your testimony, is that the risks OPG faces are significantly higher than those faced by a Canadian utility of average risk.

Have I got that straight?

MS. McSHANE:  That's what the testimony concludes, yes.

MR. THOMPSON:  All right.  As I understand your evidence, in forming -- sorry, in forming that conclusion, you applied what you call the stand-alone principle?

MS. McSHANE:  Correct.

MR. THOMPSON:  All right.  And if I could just direct you to two points in your evidence, one is at page 11, where you talk about this principle.

Page 11 in the second-last paragraph, you say:

"The stand-alone principle is the notion that the costs of capital incurred by ratepayers should be equivalent to that which would be faced by the regulated operations if they were raising capital in the public markets on the strength of their own business and financial parameters."

Then you go on:

"In other words, application of the stand-alone principle to OPG's regulated operations means they should be treated for regulatory purposes as if they were operating separately from the other activities of the firm."

So in that passage in your evidence, it is an activities-related concept, right?

MS. McSHANE:  It's the business, yes.

MR. THOMPSON:  Yes, and so you separate the regulated from the unregulated.

MS. McSHANE:  Yes.

MR. THOMPSON:  You look at the regulated as if they were standing alone.

Now, at page 54 of your testimony, there is some, I think, you talk about the stand-alone principle again, in the deemed capital structure context.  You say:

"The proper application of the stand-alone principle to the determination of deemed capital structure and return on equity for OPG's regulated operations ignores the happenstance of ownership.  The capital structure should reflect the business risks of OPG's regulated operations, irrespective of the identity of the shareholder."

Is that the approach you took in assessing the risks OPG faces?

MS. McSHANE:  Yes.  I looked at the operating risks of the company, and from an opportunity cost perspective.

MR. THOMPSON:  But am I correct, you ignored the risk-reduction features of the province's ownership of OPG?

MS. McSHANE:  Well, what I did was, in terms of capital structure, is to say:  What should the capital structure be if there were not the implicit support of the province?  Because that approach ensures that there is no subsidy from taxpayer to ratepayer.

MR. THOMPSON:  Ms. McShane, I suggest the only way one can read what you said at page 54 is that in formulating your opinion on the risks OPG faces, you disregarded the risk-reduction features of the province's ownership of OPG.

MS. McSHANE:  Well, I don't think that's correct, in the sense that from the perspective of assessing the risk, I looked at the features that had been implemented through Regulation 53/05.

So from that perspective, I took into account what I thought were the appropriate protections.

MR. THOMPSON:  Well, let's go back to the sentence:

"The proper application of the stand-alone principle to the determination of the deemed capital structure and return on equity for OPG's regulated operations ignores the happenstance of ownership."

MS. McSHANE:  It does.

MR. THOMPSON:  Okay.  And so just stopping there, that sentence, to me, means, in doing what you did, you disregarded the happenstance of ownership.  Yes or no?

MS. McSHANE:  Yes, I did.

MR. THOMPSON:  Okay, and then it goes on:

"The capital structure should reflect the business risks of OPG's regulated operations, irrespective of the identity of the shareholder."

MS. McSHANE:  Correct.

MR. THOMPSON:  That's what you did?

MS. McSHANE:  I did.

MR. THOMPSON:  Okay.  So you have not taken into account the risk-reduction features of the ownership of this company by the province.

MS. McSHANE:  I looked at it from an opportunity cost perspective, what the capital structure and ROE would need to look like, if the company was standing alone.  Just like I would do if I were looking at Enbridge Gas, which is owned by Enbridge Inc.  It has an impact on the risk profile, but when we look at the risk profile of Enbridge Gas or Union Gas, we look at them separate from the identity of the owner.

MR. THOMPSON:  You assumed that it was owned by somebody other than the province.

MS. McSHANE:  I didn't assume, well --

MR. THOMPSON:  That's what that means.

MS. McSHANE:  You can't totally ignore the ownership.

I mean you have to recognize that there are certain features of the framework that have been introduced by virtue of the regulation, but I mean I think you have to recognize that ultimately the risks of the assets do not change, the opportunity costs do not change simply from going to one owner to another.

My approach uses that principle to determine the appropriate stand-alone cost of capital.

MR. THOMPSON:  Well, I will leave for argument whether that is a misapplication of the stand-alone test.

Others have brought to your attention that this owner -- the province of Ontario -- has the power to tell this regulator how to act, and has done so in the regulation.  And that's a risk-reduction aspect.

MS. McSHANE:  Well, I would suggest that we have various opinions on this in this proceeding; that those opinions range from:  We have to put aside government ownership.  That's what Doctors Kryzanowski and Roberts say.  That's consistent with my view.  

We have some evidence that suggests that the ownership creates additional risk, due to political risk.  That's what the London Economics evidence says.  So I think we have quite a range of views on this.

I mean if we go back to years ago, when this Board was dealing with the old Ontario Hydro, and Dr. Booth, who at that time was appearing for Energy Probe, was trying to come up with a model to figure out what the appropriate costs of capital was, he explicitly, in conjunction with his then partner, Dr. Berkowitz, he then used a model that said, Here's the private sector cost of capital based on utilities in the same business area, and applied that to determine what the cost of capital for Ontario Hydro should be.  And that was when Ontario Hydro had an explicit government guarantee.


MR. THOMPSON:  All right.  Well, let me move on.  This owner not only has the power to tell this regulator what to do, it has the power to legislate a result that wouldn't prevail if this company were standing alone as a commercial enterprise, like, for example - Mr. Rodger discussed this - require this company to pay stranded debt costs through the payment in lieu of taxes, legislate a result.  That's what's happened; right?


MS. McSHANE:  But the whole industry was restructured, and not only does OPG pay PILs, so do all of the distribution companies.


MR. THOMPSON:  Well, you would agree with me the payment amount would be a lot less without the -- in the end state, without the payment in lieu of taxes legislation?


MS. McSHANE:  The payment amount of what?


MR. PENNY:  Sorry, at this rate, OPG is an OBCA corporation.  It would be liable to tax.


MR. THOMPSON:  Well, I will -- I won't go there, because I don't know the answer.


Let me put this to you, Ms. McShane.  If we do not ignore the risk-reduction features of the province's ownership of OPG, is it reasonable -- would it be reasonable to conclude that OPG is -- faces risks that are equivalent to the risks faced by an average Canadian-regulated utility?


MS. McSHANE:  No.  I don't think you can conclude that, because what you would be saying, then, essentially, is that OPG, with its nuclear risk, with its decommissioning liability risk and with no monopoly operations, was basically the same risk as the distribution utilities in this province, and I don't know how anybody could possibly conclude that.


MR. THOMPSON:  All right.  Well, I suggest it is a possible conclusion on the evidence, but I will leave that for argument.


Let's move from the equity ratio to the other aspects of the deemed capital structure that you are proposing.  I would like to start this discussion with a passage from your evidence at page 16.


MS. McSHANE:  Page 60?


MR. THOMPSON:  Sorry, one-six.  I think I've got this right.  This is the discussion in your testimony entitled "Capital Structure Deemed Versus Actual".


Just by way of introduction to this, Ms. McShane, I have been around a long time.  You haven't been around quite as long, but when I started out in this game, the capital structures for the utilities were based on actual capital structure, because, in large measure, the owners of the utilities weren't diversified.  And your mentor and predecessor, Dr. Sherwin, testified -- he had the franchise on testifying in all of these utility cases for many years, and then you came along and joined him.


Now, when you came on the scene, I think it was in the '80s at some point, where were we along the diversification path with respect to utility ownership?  Can you recall?


MR. PENNY:  Perhaps you can be a little clearer with the question.  Are you talking about whether -- when the change occurred from actual to deemed capital structure?  I am afraid I don't understand the question.


MR. THOMPSON:  I was really just trying to take a walk down memory lane as to when these utility owners started to become more diversified, and then eventually they got into the holding company structure.


Do you have any recollection as to when all of that started?


MS. McSHANE:  Yes.  Well, I recall that in this province the issue of deemed capital structure came up for Enbridge Gas in 1978.  Well, I guess I don't recall it, because I wasn't working on this stuff, but I recall that I looked it up, and I believe that it was the early '80s that the deemed capital structure started to be used at the National Energy Board.


MR. THOMPSON:  All right.  Okay.  Well, let's look at, in this section of your evidence, over at page 16, where you say, in the first full paragraph:

"The concept of a deemed or hypothetical capital structure can be viewed as a means of imputing, for regulatory purposes, a level of financial risk that is consistent or compatible with the level of business risk a utility faces.  The term 'deemed capital structure' simply refers to an imputation, for rate-making purposes, of a capital structure that is different from the actual or reported capital structure, as derived from utilities' financial statements."


Just stopping there.  In prior cases in which I have been involved where you start with the diversified company, such as OPG, and move to the deemed capital structure, there has been traditionally presented an allocation of the balance sheet between regulated and unregulated business segments not only for the historic period, but also on a pro forma basis for prospective periods.


Is that your experience?


MS. McSHANE:  I think it was done in a number of cases that way.


MR. THOMPSON:  Did you do that in this case --


MS. McSHANE:  No.


MR. THOMPSON:  -- derive your capital structure in any way by correlating it to the actual?


MS. McSHANE:  No.  I don't think that that's exactly how it occurred.  I think that the approach that was taken in the past was that one would make an estimate of the proper capital structure on a stand-alone basis for the regulated company, and then, if required, determine whether or not the remaining capital structure was appropriate to the risk of the other operations.


MR. THOMPSON:  Yes.  I don't disagree with that.  And the way that was done, in part, was to do an allocation of historic and pro forma balance sheets, so you could see what corporate capital was supporting the non-regulated business, and say, Does that look reasonable?


Do you recall that?


MS. McSHANE:  I recall some of those analyses being done, yes.


MR. THOMPSON:  All right.  But none of that was done in this case --


MS. McSHANE:  No.


MR. THOMPSON:  -- by you?  Did OPG do it, to your knowledge?


MS. McSHANE:  No.  What we basically did was -- the concern with capital structure has, in the past, been one of whether or not the utility operations would be subsidizing the non-utility operations.  So we wanted to make sure that that wasn't the case. 


So I did look to see whether or not there was any evidence of cross-subsidy, and I did that.

I did look at what the total common equity ratio of the company was, and it's over 60 percent.  So I wasn't concerned that there was any evidence of cross-subsidization.

MR. THOMPSON:  Okay.  Well, I will come back to in a minute.  Just on this passage, you say:

"A deemed capital structure is typically applied by estimating the rate base, applying a specified percentage of common equity to the rate base, assigning to the rate base outstanding and forecast issues of long-term debt and preferred shares..."

And then you say:

"... and then, to the extent the capital structure does not equal the rate base, deemed the gap to be debt."

What I suggest to you is deeming the gap to be debt isn't the only option and that traditionally, other approaches have been used.

MS. McSHANE:  And those approaches have been?

MR. THOMPSON:  Well, taking the deferred tax component, for example, of capital structure is to deem it to be zero-cost capital, and to deduct it from rate base.

Do you recall that?

MS. McSHANE:  Wait.  Okay.  Zero cost capital, for purposes of utility capital structure, occurs when there is evidence that ratepayers have contributed funds that can be viewed as financing rate base.

So if you're talking about using deferred taxes in the past as a form of zero-cost capital, that's because those were funds that were collected in rates from customers, and, therefore, could be viewed as forming part of the rate base financing.

MR. THOMPSON:  Right.  Well, I am going to come to my Exhibit K11.5 in a moment, but my point is this, that where a gap exists, as you have described it in your evidence, it's not just a slam-dunk that the gap will be treated as debt.  It has to be examined, and it could be treated in other ways.

MS. McSHANE:  Well, there has to be evidence that there is something that ratepayers provided.

MR. THOMPSON:  Right.  So let's look at, then -- and the magnitude of the gap is something that is important.  In Union's case, historically, for example, deferred taxes didn't get treated as zero-cost capital until they had reached quite a significant magnitude.

Do you recall that?

MS. McSHANE:  No.

MR. THOMPSON:  All right.  Well, I've got that in my brief.  I will come to it in a moment.  But let's just look at the gap here between actual equity, OPG, consolidated, actual debt and then the rest.  Okay?

So what I've got in K11.5, at pages 1 through to 4, are the balance sheets for the years '05 -- sorry, '04, '05, '06, and '07.  You have had appear opportunity to see this document, have you?

MS. McSHANE:  I have looked at the numbers.

MR. THOMPSON:  Okay.  So then let's look at '07 and '06, for example, at page 2 on the liability side.  The actual shareholders' equity for the corporation in '06 is 5.749 billion, and '07, 6.807 billion.  Right?

MS. McSHANE:  Yes.

MR. THOMPSON:  The actual long-term debt for the corporation at December 31 for '06 and '07 is 2.953 billion, and 3.446 billion, respectively.  Right?

MS. McSHANE:  Then there is some debt in the current liabilities.

MR. THOMPSON:  Right.  I think that is up at the 407 and the 406?

MS. McSHANE:  Yes.

MR. THOMPSON:  Okay.  Then the rest, the rest of the long-term liabilities of something in the order of 23 billion and change, falls into this category "other long-term liabilities".  Right?

MS. McSHANE:  A lot of it, yes.

MR. THOMPSON:  Okay.  Within that "other long-term liability" segment, there is nothing in there where OPG has actually gone out to the market, the capital markets, and had to pay something to acquire -- there's no market obligation, external obligation to the suppliers of capital with respect to these items.

It's something other than debt and equity capital.  Is that fair?

MS. McSHANE:  The other obligations are not market debt or equity.  There are other obligations, obviously, that have a cost to them.

MR. THOMPSON:  And the bulk of this "other long-term liability" segment of the balance sheet is fixed asset removal and nuclear waste management?

MS. McSHANE:  Right.

MR. THOMPSON:  Okay.  And that picture is consistent in the years '04 and '05.  Would you take that, subject to check?

MS. McSHANE:  I will take it subject to check.

MR. THOMPSON:  All right.

Now, then let's, if we could, turn to pages 9 and following of this exhibit.  What we've displayed here is the excerpts from the filing showing the capital structure for OPG regulatory -- or regulated, for each of the years '05 to '09 inclusive.

Okay?

MS. McSHANE:  Yes.

MR. THOMPSON:  With me so far?  And so just to identify, if we could, the gap capital, that is the difference between real debt and the equity at 45 percent, in each of these years, we find that -- well, are you familiar with these documents?

MS. McSHANE:  These tables?

MR. THOMPSON:  Yes.

MS. McSHANE:  I have seen them.  I am more familiar with the test year ones than the historical ones.

MR. THOMPSON:  If you take subject to check that what's -- what they have done at line 1 is make an allocation of existing short-term debt.  What they have done at line 2 is make an allocation to the utility of the long-term debt that appears back in the balance sheet for '05 of roughly three billion, on page 4.  And then at line 3 is, that's what I call the gap amount.  Would you take that, subject to check?

MS. McSHANE:  That would be the plug, yes.

MR. THOMPSON:  That's the plug, okay.  And the proposal is, the company's proposal is that that plug attract a return equivalent to the cost of long-term debt, and here it shows at 5.62 percent; correct?

MS. McSHANE:  Here it shows what?

MR. THOMPSON:  It shows it here at page 9 of 5.62 percent.  That's page 9 of my handout at line 3.

MR. PENNY:  Sorry, this is 2005, so --

MS. McSHANE:  So if you moved for example to page 
13 --

MR. THOMPSON:  I am asking you to agree that in this exhibit, the plug is costed at 5.62 percent.


MS. McSHANE:  It was, but it's a historic year.


MR. THOMPSON:  All right.  Thanks.


Then we move -- so the plug as a proportion of total rate base is, if you would take subject to check, about 21.8 percent in 2005.  That's line 3 divided by line 6.


MS. McSHANE:  When the equity ratio was 45 percent.


MR. THOMPSON:  That's right.  This is a 45 percent equity ratio.  Would you take that subject to check?


MS. McSHANE:  I can see the number there.


MR. THOMPSON:  Thank you.  Well, I am giving you the percentages.  At page 10, the plug is now 1.681 billion, and the ratio of the plug to rate base or the gap capital to rate base is now up to 24 percent?


MS. McSHANE:  Sorry, what year are we?


MR. THOMPSON:  2006, page 10.


MS. McSHANE:  2006?


MR. THOMPSON:  Would you take that subject to check?


MS. McSHANE:  Yes, I will do the calculation and check it.


MR. THOMPSON:  Thank you.  Then page 11, we have the plug for the period ending December 31, 2007 now up to 2.37.7 (sic) billion.  The gap capital is that amount.  That's what it shows; correct?


MS. McSHANE:  Yes.


MR. THOMPSON:  And I make that to be a percentage of 27-1/2 percent of the rate base.  Would you take that, subject to check?


MS. McSHANE:  I will do the calculation --


MR. THOMPSON:  Thank you.


MS. McSHANE:  -- and check it.


MR. THOMPSON:  Then to measure the, if you will, continuity or permanency of the plug, what I have done for the next two pages, and I will put this to you, but I have maintained the 45 percent equity ratio.


So I will just give you these numbers, if you wouldn't mind taking them subject to check.


If we continue the 45 percent equity ratio for 2008, the number at line 5 becomes 3,330.4.  Would you take that subject to check?


MR. RUPERT:  Mr. Thompson, so I can follow this, you're taking the 7,400,000,000 rate base for that year and maintaining a 45-55 capital structure?


MR. THOMPSON:  Right.


MS. McSHANE:  So the number is what?


MR. THOMPSON:  Forty-five percent of 7,400.8 million is 3,330.4 million at line 5.  Would you take that subject to check?


MS. McSHANE:  I will check it.


MR. THOMPSON:  Okay.  Then if you do that, the plug amount at line 3 becomes 1,683.9.  Would you take that subject to check?


MR. PENNY:  Can I have that again, Mr. Thompson?


MR. THOMPSON:  1,683.9.  1,683.9 at line 3.  And the total debt becomes 4,000 -- this is at line 4, 4,070.4?


MR. KAISER:  What's the percent of rate base in this case?


MR. THOMPSON:  22.3 percent.  Finally, just to get all of the years on the same 45 percent equity footing, at page 13, at 45 percent equity, line 5 becomes 3,309.2, line 4 becomes 4,044.5, and line 3 becomes 1,542.5, and the percentage of line 3 to line 6 is about 21 percent.


Would you take those numbers subject to check, Ms. McShane?


MS. McSHANE:  Yes.


MR. THOMPSON:  All right.  So this component of -- the gap component of capital structure 2005 through to 2009 is in excess of $1 billion and over 2 billion in 2007, and a ratio of rate base that exceeds 20 percent.  Would you take that subject to check?


MS. McSHANE:  Only if you change the equity ratio.


MR. THOMPSON:  Yes.  At a constant 45 percent equity, that's the gap amount.  Would you take those numbers subject to check?


MS. McSHANE:  Yes.


MR. THOMPSON:  Okay.  So my suggestion is that what we're dealing with here is an element, a gap component, of the capital structure that is -- it's not disappearing.  It is there and it is there in big numbers over the course of these years.


MS. McSHANE:  Again, only if you change the common equity ratio from the 57-1/2.


MR. THOMPSON:  Well, it's maintaining the common equity ratio.  You're the one that is changing it, but we can argue that later.


Let me move on to the implications of your proposal, which is to have the Board record a return on gap capital equivalent to the forecasted cost of long-term debt.


What I am going to go through at a high level with you is what we went through back in the '80s in the Union Gas case when deferred taxes became such a significant component of gap capital, and it's called an effective equity return calculation.


Do you recall that phrase?


MS. McSHANE:  No.


MR. THOMPSON:  All right.  Well, it's in the decisions that I provided to you.


Let me just walk you through it, and then we will come to those decisions to deal with this issue.


Would you agree with me that whatever return the Board allows on gap capital accrues to common equity?


MS. McSHANE:  No.


MR. THOMPSON:  Well, when it's reported in the financial statement, that's where it shows up.  We don't have a gap capital item in the company's financial statements.  Whatever return the Board allows on this gap capital that doesn't attract income in the financial statements is going to flow to common equity.  That's common sense.


MS. McSHANE:  Only if there are no other capital liability items that have a cost associated with them.


MR. THOMPSON:  Let's take -- we will just deal with 2009.  This is what I call an effective return calculation.  So we will go to -- let's do it for 2008, excuse me.  2008.


MR. PENNY:  Where are we, then?


MR. THOMPSON:  Page 12.


So, again, I am doing this on the 45 percent equity ratio assumption.  So the short-term debt component of the rate base of about 7.4 billion is $189.3 million.  That's an allocation of real debt.  Take that subject to check?


MS. McSHANE:  Yes.


MR. THOMPSON:  Okay.  And the cost of that is 5.83 percent, and the dollar cost is $11 million.  You will see that at line 1 on page 12; right?


MS. McSHANE:  Yes.


MR. THOMPSON:  The long-term debt - again, this is allocation of real debt - 2.197 billion -- 2.1973 billion at a cost of 5.79 percent, and that produces a dollar cost of $127.2 million; right?


MS. McSHANE:  Yes.


MR. THOMPSON:  Assuming the gap -- assuming the 45-55 equity debt ratio, gap capital is 1,683.9 million, which under the proposal would attract a cost of 5.65 percent, and that's $95.1 million.


Would you take that, subject to check?

MS. McSHANE:  I take, subject to check, the math you just did.

MR. THOMPSON:  All right.  Thank you.  Then the equity, the deemed equity at 45 percent is 3,330.4 billion dollars, subject to you checking it.  And for the purpose of my example, I am going to assume the ROE that exists of 5.0 percent.  Okay?

MS. McSHANE:  How generous of you.

MR. THOMPSON:  Yes.  Well, let's see what it produces.  And that, would you take, subject to check, produces a cost of capital of 166.5 million dollars.  Would you take, that subject to check?  Accept that math, subject to check?

MS. McSHANE:  Yes, I will accept it.

MR. THOMPSON:  All right.  And so the return on the gap capital, which is hypothetical, if the Board approves what OPG is proposing, will show up when it's reported financially as a return on equity.

It's not covering any costs of real debt.

MS. McSHANE:  Well, it's certainly covering costs associated with the decommissioning liability.  And the other thing is that you are assuming an equity of -- ratio of 45 percent when the actual equity ratio, debt-to-equity in the consolidated financial statements is over 60.

MR. THOMPSON:  I am just taking the allocation, the deemed equity ratio that the province accepted.  But that's fine.  We can do it at different scenarios.

The point I am only trying to make is this, that the effective return on equity of this kind of proposal, is dollar-wise, is the combination of the 95.1 million and the 166.5, which totals 261.6 million.  When you divide it into the deemed equity, produces an equity ratio of 7.85 percent.

MS. McSHANE:  Produces a what?

MR. THOMPSON:  It produces a return on equity of 7.85 percent.

MS. McSHANE:  I think that is entirely erroneous.

MR. THOMPSON:  Well, that's the effective rate-of-return on equity that this approach produces.

MS. McSHANE:  Well, what you're trying to do is to take a regulatory construct -- and I will call that the round hole -- and take a financial statement -- a square peg -- and fit it into it, and you can't do that.

You are assuming a different equity, and you are assuming that there is absolutely no cost associated with what's called the plug, and there is.

So I disagree that you would end up with the kind of number that you suggest.

MR. THOMPSON:  There is no cost of capital associated with the plug.  The nuclear liabilities are -- flow through the income statement.  They're not a --

MS. McSHANE:  But there is no recovery of that, separate in the revenue requirement.

MR. THOMPSON:  They have income on the funds that are invested that's not in the regulatory presentation.

MR. PENNY:  Well, I do think, Mr. Chairman, we're -- the witness and counsel are bickering with each other.  It does seem to me we're in the category of argument here.

MR. KAISER:  Mr. Thompson, why don't we take the afternoon break and we will give you a chance -- is that convenient or do you want to finish up --

MR. THOMPSON:  Well, I don't think I am going to finish in time to prevent you from tiring, so I will take the break.

[Laughter]

MR. KAISER:  I am just trying to help you.  We will do whatever you want.

MR. THOMPSON:  I will go and make some other arrangements, thanks.

--- Recess taken at 2:54 p.m. 


--- Upon resuming at 3:15 p.m. 


MR. KAISER:  Please be seated.  Mr. Thompson.


MR. PENNY:  Mr. Chairman, I'm finding it a little warm in here.  I wonder if we might be permitted to remove our jackets.


MR. KAISER:  Yes, go ahead, sir.


MS. CHAPLIN:  If I do, you can.  That's the signal.


MR. THOMPSON:  Ms. McShane, perhaps the most expeditious way to move on here would be to take you to the brief K11.6, just to refresh your memory.  Well, first, I provided this brief by e-mail some time ago and copies were given to OPG.


Have you had a chance to go through it?


MS. McSHANE:  I've flipped through them.


MR. THOMPSON:  Okay.  Well, the first several tabs deal with the Union Gas situation starting in '76.  In the Union Gas situation, the issues that arose starting in 1976 and thereafter until the early '80s were: one, whether short-term debt should be included in the capital structure; and secondly, how deferred taxes should be treated.


Can you confirm that from your review of these documents?


MS. McSHANE:  That appears to be the case, yes.


MR. THOMPSON:  So if we could just start, then, at tab 1, this is 1976 where these issues came up.  There was whether short-term debt should be included in capital structure issue, and there was also this question about treatment for preferred taxes.


If I could take you to page 26 --


MR. PENNY:  Tab 1?


MR. THOMPSON:  Under tab 1, yes, thank you.  One of the witnesses in this case was Dr. Sherwin, who was your predecessor, mentor, et cetera; is that right?


MS. McSHANE:  Apparently, he was a witness.  His name appears here.


MR. THOMPSON:  All right.  Well, you worked with Dr. Sherwin for years?


MS. McSHANE:  I did.


MR. THOMPSON:  Another was a Dr. Ileo for -- I believe it was Board Staff at the time.


If you go to page 26, you will see Dr. Ileo was recommending the inclusion of short-term debt in the capital structure.  Do you see that in the middle of the page, the first sentence in the first full paragraph there?


MS. McSHANE:  Yes.


MR. THOMPSON:  All right.  Union was resisting that.  And the Board's disposition of that issue or discussion on that issue you will see at page 29 where, at the bottom of the page, it did see some merit of including short-term debt into -- as a component of capital, but essentially went on and excluded short-term debt.  


And at page 30, it said it would monitor the return by Union resulting from this treatment.  Do you see that?


MS. McSHANE:  Yes.


MR. THOMPSON:  Okay.  Then over at page 35, Dr. Ileo was supporting the view, again, in the middle, that the rate of return should be allowed on deferred taxes, but that he pointed out, as had the other witnesses, including Dr. Sherwin, that the actual rate of return Union could earn, if Dr. Sherwin's recommendation were accepted, would be the 21.67 percent.


Do you see that?


And that, I suggest to you, is the effective rate of return on equity that flows from Dr. Sherwin's recommendation in that case, which was 15.5 percent on equity, which you see at page 34.


But the effective rate, when you included the return that would accrue on short-term debt, being the difference between weighted return and the cost of short-term debt and the return on deferred taxes, produced this high rate of return on equity.


I am suggesting to you that's what came to be known, in the parlance before this Board, as the effective rate of return on equity.  Can you recall that?


MS. McSHANE:  No.


MR. THOMPSON:  All right.


MS. McSHANE:  But could I just make a comment about the deferred taxes?


Deferred taxes -- at the risk of repeating myself, deferred taxes are capital that's provided through rates, by ratepayers, for utilities that are regulated on the basis of normalized taxes.


So in that case, it makes sense to include them in the capital structure or deduct them from rate base for that reason, which has always been done, because they're ratepayer-supplied capital.


This idea of actually allowing a return on deferred taxes is quite unusual, and what I understand it to be is a recognition of the fact that the deferred taxes are, in fact, financing utility assets which the utility has to -- which the utility owns, has to operate, and, therefore, has risks upon.  And that return that was allowed back in these days on the deferred taxes was to give some recognition to the fact that those deferred tax dollars weren't risk-free.


MR. THOMPSON:  Deferred taxes flow to the company through the income statement; right?  They show up as an expense.  I think that is what you're saying.


MS. McSHANE:  No, that's not what I'm saying.  I'm saying the reason they were treated this way is because they were recovered in rates.


MR. THOMPSON:  Well, when the tax calculation is made for a utility on normalized taxes, there is a piece of it that goes into the deferred tax account, because it's not payable immediately?


MS. McSHANE:  True.


MR. THOMPSON:  Okay.  And are you aware that when it comes to nuclear liabilities, on a financial statement basis, what OPG does is record the expenses -- record in expenses the accretion amount, and accredited to that is the earnings on the funds that are actually being held for nuclear liability.


In other words, it's a flow through the income side of the ledger; right?  Are you aware of that?


MS. McSHANE:  I know how they're treated for income statement purposes, for GAAP financial statements.


MR. THOMPSON:  Are you aware that if that process is followed for regulatory purposes, ratepayers will be better off by $147 million in the test period?


MS. McSHANE:  Well, they may be better off, but that would be totally inappropriate, because --


MR. THOMPSON:  Are you aware of it?


MS. McSHANE:  I am aware of the calculations.


MR. THOMPSON:  All right.  And so that was the situation in 1976.  But in terms of the Board's treatment of deferred taxes, I wanted to draw your attention to that.  At that time, you will see that at page 36 what the Board was doing was imputing interest on the deferred tax balance on the income side of the ledger, but then also allowing a return.  The difference between the two was, if you will, the net return allowed to defer taxes.


Do you see that?


MS. McSHANE:  I see it.


MR. THOMPSON:  Okay.  And the debate carried on into 1978, which is the next case, and here you will see the phrase "effective rate-of-return surfaced."

At page 43, you will see what my client was suggesting, how the capital requirements should be determined, but we listed each of the components of the entire rate base as we saw them.  This is page 43 of the decision.

MS. McSHANE:  I'm sorry, which tab are you on?

MR. THOMPSON:  Tab 2, going sequentially here just through these cases quickly, if I can.

You will see at page 43, we were identifying all of the components of rate base capital, which included deferred taxes and short-term debt.  Do you see that?

MS. McSHANE:  I see it.

MR. THOMPSON:  Okay.  Then if you flip over to page 54, again, you will see discussion of what is now being described as the effective rate-of-return on equity.  This Mr. Leitch, who was a witness with the Board, I believe, the text says:

"...has shown that a rate-of-return of 13.5 percent..."

That's on equity.
"... would produce an effective return on common equity of 16.73 percent.  The effective rate is high, mainly because under the principles applied by the Board in determining fair return, the shareholders receive benefits from the investment of deferred taxes in the utility business and from financing by means of short-term debt."

See that?

MS. McSHANE:  I do.

MR. THOMPSON:  All right.  Then the Board went on, in this case, at page 55:

"The Board is satisfied that when due regard is given, in particular, to comparable earnings and to effective return on equity, as well as to all of the other matters, it must find excessive the rate of 14.25 percent proposed by the applicant."

So by this time, the Board is now looking at the effective return on common equity and determining what's appropriate.  That's what the decision indicates, would you agree?

MS. McSHANE:  You're pointing to this paragraph on page 55 that starts: "The Board is satisfied"?


MR. THOMPSON:  Yes.

MS. McSHANE:  Apparently it's looking at the effective return on equity.

MR. THOMPSON:  And that's what I'm suggesting the Board in this case should have regard to.

MR. PENNY:  Well, Mr. Chairman, you know I have to -- sometimes it takes longer to raise objections than to sit through, but this is a pretty thick binder and I have to ask the question, the utility of Mr. Thompson reading passages from past Board decisions to this witness, and then asking her to confirm that that is what it says.

If there is a point, maybe we could get to the point.  If all Mr. Thompson wants to do is argue his case, then he will get to do that at the end.

MR. KAISER:  I think that is right, Mr. Thompson.  I mean you can argue these cases.  They stand for what they stand for.  This witness, all she is doing is saying:  Yes, that's what it says.


But I am not sure we're gaining much by putting these to her.

MR. THOMPSON:  All right.  I will move on, Mr. Chairman.  If I could just put this last proposition to the witness, and it's this, Ms. McShane.  

At tab 4 there is the decision in 1981 where the Board moved away from excluding short-term debt and deferred taxes from consideration, and ascribed a zero return to deferred taxes by deducting it from rate base.

Just stopping there, have you read that decision?

MS. McSHANE:  Well, I flipped through all of the decisions in the book, so I would have had to have read this one, yes.

MR. THOMPSON:  Okay.  And at tab 9 at page 2-12, we have the decision of the National Energy Board in 1978 dealing with this issue of whether deferred tax balances should attract a return component, and the National Energy Board did the same thing, treated it as zero-cost capital by deducting it from rate base.

My question is this:  Can you confirm that since the early '80s, there has never been a return allowed on deferred liabilities or gap capital that comprised deferred taxes?

Do you know, from your experience before this Board?

MS. McSHANE:  Whether there has been a return allowed on deferred taxes?

MR. THOMPSON:  Yes.  That component of gap capital, since the '80s.  I suggest to you it is zero.

MR. PENNY:  Sorry, just so we're clear, this is in the context of the National Energy Board?  The Ontario Energy Board?  Any board?  What --

MR. KAISER:  I thought it was this Board.

MR. THOMPSON:  Yes, this Board.

MR. PENNY:  All right.

MS. McSHANE:  Again, my understanding is that the deferred taxes that are being considered are deferred taxes that have been collected through rates from customers, and, therefore, constitute ratepayer-supplied funds and, as a result, it would be normal practice to take ratepayer-supplied funds and either include them in capital structure or deduct them from rate base, just as they do today with respect to deferred taxes or as they do in Alberta with respect to contributions in aid of construction.

So I don't think that that's abnormal.

MR. THOMPSON:  All right.  Now, with respect to nuclear liabilities, then, do you know how much of the gap capital that we have identified in my handout pages 9 through to 12 -- 9 through to 13, is nuclear liability related?

MS. McSHANE:  Well, I know what, approximately, the unfunded liability is.

MR. THOMPSON:  Do you know the answer to the question?  Have you looked into that?

MS. McSHANE:  I know how much the unfunded liability is, because I was the one who looked at this method in the addendum to J.1.3.

MR. THOMPSON:  I will come to that in a minute.  But in terms of the information in the record, we have two documents.  I don't know if you are familiar with them or not.  But there is L-2-55, which shows nuclear liabilities in rate base, which we were told excludes Bruce.  And then there is an Exhibit H1, tab 1, schedule 3, which shows the NBV of ARC, which is retirement costs, including Bruce.

Are you familiar with these documents?  Can you tell me how much of the plug amount -- assuming a 45 percent equity ratio -- in the company's filings 9 to 13 is nuclear liability related?  Or should I ask that of the next panel?

MS. McSHANE:  I think you should probably ask the specific numbers of someone else, other than me.  But I would say that I wouldn't know, based on 45 percent, in any event.

MR. THOMPSON:  All right.  So I will follow up with that with the final panel.

Now, you were asked -- this comes to this exhibit you just mentioned, I think, J1.3, you were asked about precedents with respect to the recovery of nuclear liability, right?

MS. McSHANE:  Yes.

MR. THOMPSON:  That arose as a result of some examination in the hearing and then some questions from Mr. Rupert.

Are you aware of the response to, I think it is AMPCO 58, L-2-58, of treating the nuclear liabilities for regulatory purposes in the same manner as they're treated for financial statement reporting purposes?


MS. McSHANE:  I have seen that answer, yes.


MR. THOMPSON:  Okay.  How are the nuclear liabilities treated for financial statement purposes?


MS. McSHANE:  For financial statement purposes, the nuclear liabilities, in total, incur an interest improvement or accretion cost.


MR. THOMPSON:  Okay.  Is that not the equivalent to collecting deferred taxes through the income statement?


MS. McSHANE:  I think we're confusing what happens in an income statement versus what happens in the regulatory model.


The regulatory model has certain assumptions about what's recovered, when.  When you have deferred taxes that are treated as zero cost capital, it is because you have identified that those have been recovered from ratepayers.  It's not because they flow through the GAAP financial statements that way.


MR. THOMPSON:  Well, correct me if I'm wrong, but the accretion amount, with respect to nuclear liabilities, goes into the nuclear liability account, does it not?


MS. McSHANE:  Sorry, it goes into what?


MR. THOMPSON:  The accretion amount in the income statement for nuclear liabilities goes into the nuclear liability account?


MS. McSHANE:  It ends up -- on the financial statements, it ends up in the nuclear liability amount.


MR. THOMPSON:  And the deferred tax amount through the income statement ends up in the deferred tax liability account; right?


MS. McSHANE:  That may be, but we're dealing with what's appropriate for regulatory purposes, depending on what has been recovered from customers.  That has to be part of the criterion.


MR. THOMPSON:  And the income earned on the nuclear funds flows through the income statement and ends up in the nuclear fund account on the asset side of the ledger; right?


MS. McSHANE:  It does.


MR. THOMPSON:  Okay.  So when you were asked for whether there were any precedents for what OPG is proposing in this case -- which is not that treatment; right?


MS. McSHANE:  Right.


MR. THOMPSON:  It's proposing what they call the rate base treatment?


MS. McSHANE:  Right.


MR. THOMPSON:  Okay.  And you came up with your response, J1.3, and the bottom line, if I understand it, is there are no precedents for what OPG is proposing?


MS. McSHANE:  Correct.


MR. THOMPSON:  And am I correct that in the States, in FERC, the treatment is as per the financial statements; in other words, they're kept out of rate base?


MS. McSHANE:  No, that's not right.


The treatment for regulatory purposes is not the financial statement treatment.  I think I tried to explain in this addendum that the treatment that has been historically used in the States for regulatory purposes precedes FASB 143, which is the financial statement treatment.


And when FASB 143 came into being, yes, these utilities had to report on their GAAP financial statements consistent with FASB 143, but they didn't change the regulatory methodology that they had always used.


MR. THOMPSON:  Right, but that regulatory -- I understood that, but that regulatory methodology was not rate base treatment.


MS. McSHANE:  True.


MR. THOMPSON:  It was going through, as I understood you, negative salvage or something else.


MS. McSHANE:  Correct.


MR. THOMPSON:  Which is a flow through the income side of the statement.  Do we understand that correctly?


MS. McSHANE:  It's more akin to that, yes.  I mean, it's not FASB 143, but it is more akin to what I guess you would characterize as the flow-through methodology.


MR. THOMPSON:  All right.  Let's leave it there, subject to this.  Had you considered this issue of nuclear liabilities before you were advised of Mr. Penny's response to Mr. Rupert?


MS. McSHANE:  Yes.  I considered it in the sense that I was aware of the regulation treatment that the asset retirement costs would be in rate base, and so, yes, I took that into account in developing my recommendations.


MR. THOMPSON:  Well, there is nothing in your prefiled evidence about this -- this issue.


You didn't simply respond to the question, Are there any precedents, the answer to which is "no"


You go on and give us your view now on what is appropriate in terms of the treatment of nuclear liabilities, and it just happens to be what OPG has put on the record here several times before you testified.


MS. McSHANE:  Well, I considered this before.


MR. THOMPSON:  You did it just before what?


MS. McSHANE:  I had considered this before, I said.


MR. THOMPSON:  Oh, considered it.  Well, had you expressed it to anyone?


MS. McSHANE:  As part of my cost of capital evidence, no.  I mean, I have had discussions about it with OPG.


MR. THOMPSON:  Okay.  Now, in terms of, again, treating this -- all of this gap capital as if it were debt, I just want to go back quickly, if I might, to my Exhibit K11.5.  Would you agree with me that what we end up with -- and I am looking at -- we can do it for 2005, 2006 or 2007.  It doesn't really matter.  Let's go to 2007.


When you add up the existing allocated long-term debt at line 2 with the notional long-term debt at line 3, you get close to -- it's probably $3.9 billion, which exceeds all of the debt on OPG's financial statement at page 2, long-term and the long-term debt due within one year.  


That's the impact, is it not?


MS. McSHANE:  And a large part of that is because there is actually a much higher equity ratio on the balance sheet of OPG than 45 percent.


I mean, where else is -- if you assume 45 percent and not 60 percent, I mean, that makes up a large part of it.


MR. THOMPSON:  Right.  But it makes the allocation, I suggest, that you have of existing long-term debt at line 2 a bit of a phantom exercise, because at the end of the day you have in capital structure, for the utility, more long-term debt than the corporation as a whole actually has.  That strikes me as being somewhat inequitable.


MR. PENNY:  To whom?


MR. KAISER:  To the utility.


MS. McSHANE:  To the utility?


MR. THOMPSON:  The regulated business.


MS. McSHANE:  Well, then we could put 57-1/2 percent equity in there and it makes a big difference.  You're close to the actual capital structure.


MR. THOMPSON:  All that is doing is classifying part of the plug as equity, which is increasing its cost.


MS. McSHANE:  My point is that it's actual equity.


MR. THOMPSON:  Let's move on.  We can probably argue this a number of ways.  I just wanted a couple of other points.

You have an automatic adjustment mechanism recommendation in your material, which, as I understand it, is for the Board to adopt the same automatic adjustment mechanism that currently applies, which is, for every change of 100 basis points in the long Canada, there is a 75 basis point adjustment to ROE?

MS. McSHANE:  Correct.

MR. THOMPSON:  All right.  But then you say that if long Canadas go to 8 percent, all bets are off.  That becomes a material change, as I understand what you're suggesting.  Am I right?

MS. McSHANE:  Well, I would suggest that since we're sitting at 4-1/2 percent long Canada yields, that if interest rates went back up to 8 percent, then, yes, that that would be enough of a change that would be suggestive that there is something fundamental that has changed in the capital markets.

MR. THOMPSON:  All right.  Well, what puzzles me about that is that, when the adjustment mechanism was put in place, long Canadas were above 8 percent.

MS. McSHANE:  They were.

MR. THOMPSON:  So I don't understand why now, if we hit the eight, it's now a material change.

MS. McSHANE:  Well, I mean, it is sort of a moot point in any event.  I --

MR. THOMPSON:  In my lifetime, yes, but maybe not in yours.

MS. McSHANE:  Well, it seems to me that, you know, these formulas should be reviewed on a regular basis in any event.  So to my mind, it puts some constraints on the range, but more importantly, I think it probably should be reviewed periodically, rather than whether the results, or the risk-free rate exceeds a particular level.

MR. THOMPSON:  My last question deals with this topic of Bruce and it may not be for you.  It's return-related, in the sense that I guess I'm trying to understand whether Bruce is a drag on return or not a drag on return for OPG.

My question of you is this:  When Union and Enbridge and these other Ontario utilities had ancillary businesses, we used to get, as part of the regulatory filing, a rate-of-return calculation for the ancillary business.

MS. McSHANE:  Right.

MR. THOMPSON:  So that would include the revenue from the business and then all of the costs and it would include a rate base allocation.

MS. McSHANE:  Right.

MR. THOMPSON:  Then we would see whether that is greater or less than the return being requested in the case.

Have you seen that for Bruce?

MS. McSHANE:  Well, I certainly am aware of the approach that was taken and the fact that -- the approach that was taken basically takes the revenues from Bruce, costs from Bruce, costs include interest expense, a return on equity, and what's left over flows as a reduction to the revenue requirement.  And there's a reduction to the revenue requirement as a result of flows from Bruce, and that's sort of the same kind of thing that used to happen with the gas companies, except that I believe the ancillary services, at least up till a certain point, used to be costed on sort of an incremental cost basis, rather than a full cost basis.

MR. THOMPSON:  But in that calculation, do you know if the Bruce nuclear-related liabilities are over with the Bruce ancillary business calculation, or in with the utility?  Do you know?

MS. McSHANE:  Are the liabilities?

MR. THOMPSON:  There's some confusion in my mind as to where those liabilities are parked, in the ancillary business return calculation.

MR. PENNY:  Well, I do think that is a question for the company, not for Ms. McShane.

MR. THOMPSON:  Okay.  So you don't know the answer to that Ms. McShane?

MS. McSHANE:  Not specifically, no.

MR. RUPERT:  Mr. Penny, won't that come out on an undertaking you are going to be filing?

MR. PENNY:  That is what we were just talking about and I think what Mr. Thompson is generally talking about is the type of thing that's on this undertaking, that's being worked on as we speak.  But just specifically for Mr. Thompson's question, the ARC is in the Bruce calculation, the ARC associated with the Bruce.

MR. THOMPSON:  Thank you very much.  Those are my questions.  Thank you for your patience.

MR. KAISER:  Thank you.  Mr. Buonaguro.

MR. BUONAGURO:  Thank you.  I just have actually a few questions and they relate, I believe, entirely to the new addendum to J4.3 that was filed yesterday.

Before I start, I should mark an exhibit.  I did put in something called "The United States of America Federal Energy Regulatory Commission Order No. 631", is what I call it.

[Mr. Battista passes out the document.]

MR. BATTISTA:  That will be given -- marked with Exhibit number K11.7, and it's an excerpt from the FERC decision dated April 9th, 2003.

EXHIBIT NO. K11.7:  FERC decision dated April 9th, 2003 (excerpt)

MR. BUONAGURO:  Now, I did distribute the entire order number, and I think the entire order is just over 80 pages and I wasn't intending to refer to all of that.  So I have just included in this particular exhibit a few pages that I thought would be relevant.

I might suggest for posterity's sake that the entire rule be given an exhibit number, and we can provide a paper copy later.

MR. KAISER:  All right.  We can do that.

MR. BATTISTA:  Well, we will revise the exhibit description to say the entire decision, FERC decision.

MR. KAISER:  You will send that to --

MR. BUONAGURO:  Everybody has -- I distributed the PDF already.


MR. KAISER:  Oh, I see. 

MR. BUONAGURO:  It is just I haven't printed the whole 80 pages. 

MR. KAISER:  All right.  I understand.

Cross-examination by Mr. Buonaguro:

MR. BUONAGURO:  I just have a preliminary question about what we received yesterday.  I am looking at Undertaking J1.3, addendum.  There is a front page to which is attached attachment 1.

Now, if I have questions about this first page, are these questions for you, Ms. McShane?

MS. McSHANE:  I am responsible for the addendum.

MR. BUONAGURO:  Okay, so --

MS. McSHANE:  I mean, sorry, the attachment.

MR. BUONAGURO:  The attachment?  Attachment 1 --

MR. PENNY:  It's the attachment 1, that's right.  I think the document makes it relatively clear that the addendum to J1.3 is prepared by the company, the attachment is prepared by Ms. McShane.

MR. BUONAGURO:  So if I want to ask questions about the addendum, I should save that?

MR. PENNY:  That's right.  I think that deals with what we have called a matter of regulatory policy, and Mr. Barrett can deal with those in the last panel.

MR. BUONAGURO:  Okay, thank you.

Mr. Thompson already took you through, I guess, the first part of the addendum.  Sorry, the attachment number 1 to the addendum.  And I understood your answer to be -- or that you agreed with him that, essentially, there were no precedents for OPG's suggested treatment of nuclear liabilities?

MS. McSHANE:  That's my understanding.  Well, there are -- there would be none in Canada.

MR. BUONAGURO:  Right.

MS. McSHANE:  Because the nuclear generation held by others isn't regulated.  And the regulatory treatment in the States, basically, has been going on for a long time, and, you know, no reason that one would have expected them to switch horses in midstream when FASB 143 came along.

MR. BUONAGURO:  Now, with respect to FASB 143, I notice you talk about, in this addendum, you talk about what happened prior to the adoption, and then it was adopted in 2003.  Then you say at the bottom of page 4:

"To my knowledge, the adoption of FASB 143 has not resulted in material changes in regulatory practice with respect to rate base and capital structure for US utilities with ARCs and AROs."


Now, the reason we put in K11.7, the FERC rule, or number 631 is -- it actually refers specifically to FASB 143.


If you look at K11.7, at page -- I have labelled it as page 7, but it is actually page 5 of the rule or the order.  At the top -- it starts on the previous page.  It says: 

"The scope of the NOPR covered certain legal obligations associated with future retirement of long-lived assets.  These obligations generally referred to as asset retirement obligations are legal obligations associated with the retirement of a tangible long-lived asset if an entity is required to settle as a result of an existing enacted law, statute, ordinance or written or oral contract or by legal construction of a contract under the doctrine of promissory estoppel." 


Then there is a footnote.  If you look at the footnote, it actually refers to FASB number 143.  Do you see that?


MS. McSHANE:  I do.


MR. BUONAGURO:  So it seemed to me, in reading this particular order, that this order, at least in part, was created (a) post FASB 143, and in response to FASB 143.


MS. McSHANE:  For the purpose of uniform system of accounts, not for rate-making purposes.


MR. BUONAGURO:  Okay.  Now, going -- now, again, this particular version we're looking at isn't the full thing, but if we go down to page 9 of the exhibit, which is page 27 of the actual order, starting at paragraph 60 it talks  -- it starts talking there about tariff filing requirements.


And I think a fair summary of this would be it sort of talks about what FERC requires or asks of utilities when filing for rates or rate changes.


In particular, looking at paragraph 62, and I will read this in.  It says:

"The Commission finds that the issue of whether, and to what extent, a particular asset retirement cost must be recovered through jurisdictional rates should be addressed on a case-by-case basis in the individual rate change filed by the public utilities, licensees, and natural gas companies. To ensure that all rate base amounts related to asset retirement obligations can be identified and excluded from the rate base calculation in a rate change filing, the Commission adds sections 35.18 and 154.315 to its rate change filing requirements."  


Then it goes on to talk about the fact that those new sections require them to identify all cost components related to the asset retirement obligation and that all asset retirement obligations related rate base items be removed from the rate base computations or adjustment.


So this would -- suggested to me that when filing for a rate change, despite how asset retirement costs are reflected in the financial records of the company, they're actually being identified and removed from rate base when applying for rates, at least on the initial filing.


Is that not how you understood it?


MS. McSHANE:  Maybe.


MR. BUONAGURO:  You're sort of shaking your head.


MS. McSHANE:  Well, I have to say that I find the FERC decision a bit obtuse, and the reason say that is --


MR. BUONAGURO:  Can I interrupt you just for a second?


MS. McSHANE:  Sure.


MR. BUONAGURO:  Were you aware of this particular decision when you were writing your evidence of attachment A?


MS. McSHANE:  Was I aware of the decision when I was writing my evidence?


MR. KAISER:  Attachment 1.


MR. PENNY:  Attachment 1.


MR. BUONAGURO:  Yes, I meant attachment 1.


MS. McSHANE:  Oh, sorry.  Yes, I was aware of the FERC decision.


MR. BUONAGURO:  Of this order?


MS. McSHANE:  Yes.


MR. BUONAGURO:  Okay, I wasn't sure.


MS. McSHANE:  But what I find a bit obtuse about it is, if you look at this attachment that I have prepared, there is -- I referred to both the asset retirement cost and the asset retirement obligation.


So the asset retirement cost sits on the asset side and the asset retirement obligation sits on the liability side of the balance sheet.


And if you look at -- this is page 21 of the decision, paragraph -- starting with paragraph 45


MR. BUONAGURO:  If you can hold on just a second, that particular page hasn't been --


MS. McSHANE:  Sorry, you didn't get the whole thing, right.  Sorry.  Want me to just read it?


MR. RUPERT:  We'll catch up.


MR. PENNY:  We will sacrifice Josie's.


MS. McSHANE:  So this is commenting on comments that were made to the FERC in respect to its proposal.


This paragraph says:

"Certain commenters object to the Commission's proposed new primary plan accounts.  One commenter suggested the Commission create a new separate asset group called asset retirement costs that separately identifies asset retirement costs in financial statements and would facilitate the exclusion of the asset retirement cost from the rate base in a rate change filing."


Then there are a number of other comments basically suggesting similar separation of the asset retirement costs from the rest of the cost of the asset.


The Commission's response is, "The Commission 

finds" --


MR. PENNY:  Which paragraph?


MS. McSHANE:  This is paragraph 48:

"The Commission finds that these recommendations are not consistent with the view that asset retirement costs are considered an integral part of the cost of a particular asset that gives rise to the asset retirement obligations, rather than separate and distinct assets."


So it's not clear to me that, you know, when the Commission is talking about asset retirement obligations, it's talking about the right-hand side, the liability side, and dealing with those as opposed to the asset retirement costs and keeping those in rate base.


MR. BUONAGURO:  Well, I don't want to spend the rest of the afternoon going back and forth over interpretation.  I am not really asking you to interpret it.


I can tell you the reason that I put it in is that the Board had asked for precedents and that you had mentioned FASB 143, in particular, and that it appeared to us that this particular FERC order was very relevant to how at least one governing body treats asset retirement costs, and we have now -- we're going to have the whole rule, including the part you read into the record, available in case anyone wants to argue based on it.


I would note that in my understanding, most of the rule -- most of the decision, which is about 80 pages long, talks about how it is going to be accounting rules and how things are going to be represented on the books.


MS. McSHANE:  On the -- yes, on the financial statements that are provided to the FERC.


MR. BUONAGURO:  Then going to this section that starts at paragraph 60, I believe, this is where it is actually talking about what happens when a regulated utility comes forward for rates or rate change.


MS. McSHANE:  Sorry, where are we?


MR. BUONAGURO:  It's paragraph 60, which is -- I will refer to the payment numbers in the actual decision.  It is page 27.


MS. McSHANE:  That's fine.


MR. BUONAGURO:  It is tariff filing requirements.  So when a public utility, licensee, or natural gas company is applying for rates, they have to file, and when they're doing the filing, they're asked specifically to remove asset retirement costs from rate base.


MR. PENNY:  I'm sorry, but that is not correct.  That is the whole point that Ms. McShane is making, is they're talking, there, about asset retirement obligations, not about asset retirement costs.


MR. BUONAGURO:  Okay.  I am talking about asset retirement costs.


MR. PENNY:  Well, then that's --


MR. BUONAGURO:  That is what I asked about.


MR. PENNY:  That isn't what it says.  It talks about, in this section, section 60 to 62, about the removal of asset retirement obligations.

MR. BUONAGURO:  Okay.

MR. PENNY:  So you've misstated what it says.

MR. BUONAGURO:  Well, again, I hadn't intended that we would argue this.  I thought it would be added to the record --

MR. PENNY:  I am not arguing with you, Mr. Buonaguro.  I am simply pointing out you've misstated what it says.  You said it dealt with asset retirement costs.  It does not.  It deals with asset retirement obligations.

MR. BUONAGURO:  Well, I am not going to -– well, I would point out that at paragraph 62, when we're talking about what's actually happening on rating, the filing, it says, for example:

"In addition, the regulation requires that all asset retirement obligations-related rate base items be removed from the rate base computation through an adjustment that would include the asset retirement costs."

Anyway, the reason I put it in is because the Board asked for precedents, and this was particularly related to what was in Ms. McShane's evidence.

Does it change your view in terms of what is actually happening in the US with respect to asset retirement costs?

MS. McSHANE:  No.  It's fully consistent with what's in here.

MR. BUONAGURO:  I wasn't suggesting that it necessarily was.

MS. McSHANE:  What was asked, basically, I thought, were precedents for what OPG was proposing.

This particular FERC decision falls in one of these -- I mean basically it's saying:  Follow these rules for accounting purposes, to the extent that there are differences between what you're doing based on past regulatory practice and what the rules suggest, if you've got regulatory assets and liabilities.

So I mean this falls under the rubric of the approaches that I described.

MR. BUONAGURO:  Thank you.

Now, just a couple of more questions.  In the part of your attachment 1, at page 6, you talk about Regulation 53/05.  And you say:

"It requires the Ontario Energy Board to accept the asset values as per the most recently audited financial statements for purposes of establishing the rate base.  The ARCs are included in the original cost of the assets and will continue to be included in rate base, thus the point of departure is different from that of US utilities."

It seemed to me you are providing an interpretation of 53/05 that says the Board is required to include these costs in rate base, for the purposes of setting rates.

I highlight that because earlier in your testimony, you were quite fairly telling the Board at some point you weren't here to interpret the statute.

MS. McSHANE:  Well, I guess it was interpreted for me.  How is that?

MR. BUONAGURO:  So I guess your evidence is on the assumption that that is what is required?

MS. McSHANE:  That's right.

MR. BUONAGURO:  Okay.  So that would follow through, I guess, on page 7 of the attachment, and the middle paragraph you say:

"Option 2 from the CIBC which deducts the unfunded liability from rate base effectively negates the requirement that the OEB accept OPG's asset value as per the most recently audited financial statements for purposes of establishing rate base."

Again if the Board were to interpret 53/05 as not requiring that unfunded liabilities be included in rate base, this sentence wouldn't apply?

MS. McSHANE:  Sorry, if the Board were to interpret what?

MR. BUONAGURO:  Well, this paragraph suggests that option 2 shouldn't be followed because it:

"... negates the requirement that the OEB accept OPG's asset values as per the most recently audited financial statements for purposes of establishing rate base."

Which I am assuming is predicated on this interpretation that was provided to you of 53/05.

MS. McSHANE:  Right.  That's fair enough.

MR. BUONAGURO:  Okay, thank you.  Lastly, on page 8 of the attachment, the first full paragraph, it's the second-last sentence.  You say:

"While method 3 may provide a closer matching of the financing costs recovered in the revenue requirement with those incurred, the rate base method follows the traditional practice in Ontario of not streaming or tracing of financing costs."

I am assuming that when you talk about the traditional practice in Ontario, you're relying on the actual undertaking J1.3 addendum, section 2, which talks about regulatory precedents relating to financial streaming, and in particular, the two examples that were provided by the panel, who I will presumably be talking to later.

MS. McSHANE:  Well, I was aware of that.

I mean I guess I am thinking in a bit broader sense of just how the Board has typically dealt with capital structures and hypothetical capital structures consisting of equity, available preferred, if there is any, available debt, if there is any, and what I referred to in my testimony as a plug to make up the difference between rate base and capital structure.

MR. BUONAGURO:  Are the examples that the company provides what you have in mind?

MS. McSHANE:  Well, they're certainly relevant to this situation, yes.

MR. BUONAGURO:  Okay.

Thank you.  Those are my questions.

MR. KAISER:  Thank you.  Mr. Penny, we're going to have to stop at this point.  Ms. Chaplin has young children who will be running loose in the streets.

MR. PENNY:  We can't have that.

MR. KAISER:  So 9:30 Monday.

---Whereupon the hearing adjourned at 4:11 p.m.
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